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2.1.1 Ajax (Asynchronous JavaScript and XML)
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[SRM java]

package com.SRM.server;

import java.io.BufferedReader;

import java.io.lOException;

import java.util. ArrayList;

import javax.servlet.ServletException;

import javax.servlet.annotation.WebServlet;
import javax.servlet.http.HttpServlet;

import javax.servlet.http.HttpServletRequest;
import javax.servlet.http.HttpServletResponse;
import org.json.simple JSONArray;

import org.json.simple.JSONODbject;

import org.json.simple.parser.JSONParser;
import pcdetail.pcdetail1VO;

import pcdetail.pcdetail2DAO;

@WebServlet("/SRM")
public class SRM extends HttpServlet {
private static final long serialVersionUID = 1L,

public SRM() {
super();
// TODO Auto-generated constructor stub
}
protected void doGet(HttpServletRequest request, HttpServletResponse response)
throws ServletException, |OException {
// TODO Auto-generated method stub
}
protected void doPost(HttpServletRequest request, HttpServlietResponse response)
throws ServletException, |OException {
// TODO Auto-generated method stub
String str = getBody(request);
String arr[] = new String[12];
String arr1[] = new String[13];

/1 078k
String key[] = { "Size", "maker_name", "model", "mem_tot", "bios", "os_name", "install_date",
"boot_time", "id",



non non

"mem_tot_vert", "os_ver",
/] A
String key1[] = { "FreeSpace", "Size", "mem_tot", "mem_max", "mem_vert", "mem_tot_vert",

processor"};

"LoadPercentage”,
"PingResult", "mac", "ip", "count", "temper1", "temper2" };
String jsoninfo = str;
int rst = O;
inti =0
int pcno = 0;
float scope = (float) 0.007;

try {
pcdetaillVO vol = new pcdetail1VO();
pcdetaillDAO daol = new pcdetail1DAO();
pcdetail2VO vo2 = new pcdetail2VO();
pcdetail2DAO dao2 = new pcdetail2DAO();
pcinfoDAO pidao = new pcinfoDAO();
JSONParser jsonParser = new JSONParser();
JSONObject jsonObject = (JSONObject) jsonParser.parse(jsoninfo);
I 2 A2
JSONArray datalnfoArrayl = (JSONArray) jsonObject.get("infoBasket1");

for (i = 0; i < datalnfoArray1.size(); i++) {
JSONObject dataObject’ = (JSONObject) datalnfoArray1.get(i);
arr1[i] = (String) dataObject1.get(key1[i]);

1

pcno = pidao.selectpcno(arr1[8]);

pidao.updateip(pcno, arr1[9]);

dao2.deletecount(pcno);

pidao.insertcount(Integer.parselnt(arr1[10]), pcno);

vo2.setPcno(pcno);

vo2.setFreespace(arr1[0]);

vo2.setSize(arr1[1]);

long memory;

long memory_vert;

memory = ((((Long.parseLong(arr1[2])/1024) -  Long.parseLong(arr1[3])) * 100
)/(Long.parseLong(arr1[2])/1024));
memory_vert =  (((Long.parselong(arr1[5]) -  Long.parselong(arr1[4])) * 100

)/Long.parseLong(arr1[5]));
vo2.setMemory((int)memory);
vo2.setMemory_vert((intymemory_vert);;
vo2.setLoadper(Integer.parselnt(arr1[6]));
vo2.setPing(Integer.parselnt(arr1[7]));
if (arr1[11] == null) {

vo2.setTemper2(-100);
arr1[12] = "-100";



} else {
vo2.setTemper1(Integer.parselnt(arr1[11]));

if (arr1[12] == null) {
vo2.setTemper2(-100);
arr1[12] = "-100"

} else {

vo2.setTemper2(Integer.parselnt(arr1[12]));
1

rst = dao2.insertpcdetail(vo2);

if (rst > 0) {
System.out.printin(pcno+"A|&");

System.out.printin("wmi HA|Zt FEE7] d3");

}
I 71 e s 2oF7|
if(dao2.avgloadper(pcno)>=70 [

if((dao2.avgloadper(pcno)>=90) I

pidao.insertcolor(3, pcno);
} elsef

pidao.insertcolor(2, pcno);
}
} else{
pidao.insertcolor(1, pcno);
1
if((dao2.avgloadper(pcno)>=70)){
if((dao2.avgloadper(pcno)>=90)){
pidao.insertloadper(3, pcno);
} else{
pidao.insertloadper(2, pcno);

}

} else {
pidao.insertloadper(1, pcno);

if((dao2.avgtemper1(pcno)>=60)){
if((dao2.avgtemper1(pcno)>=80)){
pidao.inserttemper1(3, pcno);
} else{
pidao.inserttemper1(2, pcno);

} else {

(dao2.avgtemper1(pcno)>=60) [
(dao2.avgtemper2(pcno)>=60) || (dao2.avgmemory(pcno)>=70) || (dao2.avgmemory_vert(pcno)>=60))

(dao2.avgtemper1(pcno)>=80) I

(dao2.avgtemper2(pcno)>=80) || (dao2.avgmemory(pcno)>=90) || (dao2.avgmemory_vert(pcno)>=80))



pidao.inserttemper1(1, pcno);

if((dao2.avgtemper2(pcno)>=60)){
if((dao2.avgtemper2(pcno)>=80)){
pidao.inserttemper2(3, pcno);
} elsef
pidao.inserttemper2(2, pcno);
}
} else {
pidao.inserttemper2(1, pcno);
1
if((dao2.avgmemory(pcno)> =70)){
if((dao2.avgmemory(pcno)> =90)){
pidao.insertmemory(3, pcno);
} else{
pidao.insertmemory(2, pcno);
1
} else {
pidao.insertmemory(1, pcno);
1
if((dao2.avgmemory_vert(pcno)>=60)){
if((dao2.avgmemory_vert(pcno)>=80)){
pidao.insertmemory_vert(3, pcno);
} elsef
pidao.insertmemory_vert(2, pcno);
1
} else {
pidao.insertmemory_vert(1, pcno);
1
// $18l BE flagZ7t 02 M, colorE 1(=5M)2 HHYFECE
if(pidao.insertgreen(pcno)==1) {
pidao.insertcolor(1, pcno);
1
1111 REM A
JSONArray datalnfoArray2 = (JSONArray) jsonObject.get("procBasket");

int S = datalnfoArray2.size();
String[] name = new String[S];
String[] date = new String[S];
String[] size = new String[S];

for (i = 0; i < datalnfoArray2.size(); i++) {
JSONODbject dataObject2 = (JSONObject) datalnfoArray2.get(i);
namel[i] = (String) dataObject2.get("name");
date[i] = (String) dataObject2.get("date");



size[i] = (String) dataObject2.get("size");
}
/] BH Z2MA 97
totalprocVO tpvo = new totalprocVO();
totalprocDAO tpdao = new totalprocDAO();
tpdao.deletecount(pcno);

for i =0;i<S; i++) {
tpvo.setPcno(pcno);
tpvo.setName(namelil);
tpvo.setDate(dateli]);
tpvo.setSize(size[i]);
rst = tpdao.inserttotalproc(tpvo);

if (rst > 0) System.out.printin("A A ZZ A A",
/] 187t ZEM2A EOtLY T
allowprocDAO apdao = new allowprocDAO();
String[] allowproc = apdao.printallowproc(pcno);
/] A& =7t Z2 ML ZELY|
ArrayList<String> notallow_name = new ArrayList<String>();
ArrayList<String> notallow_date = new ArrayList<String>();
ArrayList<String> notallow_size = new ArrayList<String>();
boolean b; int j;
for i =0;i<S; i++) {

b = true;

for ( = 0; j < allowproc.length; j++) {

if (nameli].equals((allowproc[j1))) {

b = false;

1

1

if (b) {
notallow_name.add(nameli]);
notallow_date.add(dateli]);
notallow_size.add(sizel[i]);

1

}

/] A& =7t Z2MA EY

notallowprocVO npvo = new notallowprocVO();
notallowprocDAO npdao = new notallowprocDAO();
npdao.deletecount(pcno);

for (i = 0; i < notallow_namesize(); i++) {
if(i==0){ npvo.setScope(0);
}

else if(i==(notallow_name.size()-1)){



npvo.setScope(1);

1
npvo.setPcno(pcno);
npvo.setName(notallow_name.get(i));
npvo.setDate(notallow_date.get(i));
npvo.setSize(notallow_size.get(i));
npvo.setScope(scope);
rst = npdao.insertnotallowproc(npvo);
scope += (float)0.001;

}

if (rst > 0) {
System.out.printin("5{- &2 7t");

1

// HEYIAEE 27|

JSONArray datalnfoArray3 = (JSONArray) jsonObject.get("'netBasket");

S = datalnfoArray3.size();
int[] received = new int[S];
int[] sent = new int[S];
int[] total = new int[S];

for (i = 0; i < datalnfoArray3.size(); i++) {
JSONObject dataObject3 = (JSONObject) datalnfoArray3.get(i);
received[i] = Integer.parselnt((String) dataObject3.get("received"));
sent[i] = Integer.parselnt((String) dataObject3.get("sent"));
total[i] = Integer.parselnt((String) dataObject3.get("total"));

1

networkVO nvo = new networkVO();

networkDAO ndao = new networkDAO();

ndao.deletecount(pcno);

nvo.setReceived(0);

nvo.setSent(0);

nvo.setTotal(0);

nvo.setPcno(pcno);

for (i =0;i<S;i++) {
if (receivedli] !'= 0 || sent[i] != 0) {
nvo.setReceived(received[i]);
nvo.setSent(sent[i]);
nvo.setTotal(total[i]);
nvo.setPcno(pcno);

rst = ndao.insertnetwork(nvo);



if (rst > 0) {
System.out.printin("HEYIHE"),
System.out.printin(pcno+"&");
}
if (pidao.printcount(pcno) == 0) {
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JSONArray datalnfoArray = (JSONArray) jsonObject.get("infoBasket");

for (i = 0; i < datalnfoArray.size(); i++) {
JSONObject dataObject = (JSONObject) datalnfoArray.get(i);

arrfi] = (String) dataObject.get(keyl[i]);
}

pcno = pidao.selectpcno(arr1[8]);

pidao.updateip(pcno, arr1[9]);

vol.setPcno(pcno);

float disk = Float.parseFloat(arr[0])/1024/1024/1024;
double diskd = Math.round(disk*100d) / 100d;
vo1l.setSize(Double.toString(diskd));
vol.setMaker_name(arr[1]);

vol.setModel(arr[2]);

float mem = Float.parseFloat(arr[3])/1024/1024/1024;
double memd = Math.round(mem*100d) / 100d;
vol.setMem_tot(Double.toString(memd));
vo1l.setBios(arr[4]);

vo1.setOs_name(arr[5]);

vol.setlnstall_date(arr[6]);

vol.setBoot_time(arr[7]);

vol.setld(arr[8]);

float mem_vert = Float.parseFloat(arr[9])/1024/1024;
double mem_vertd = Math.round(mem_vert*100d) / 100d;
vol.setMem_tot_vert(Double.toString(mem_vertd));
vo1.setOs_ver(arr[10]);

vol.setProcessor(arr[11]);

rst = daol.insertpcdetail(vo1);

if (rst > 0) {
System.out.printin("wmi 1Y FLE7| &3");

}
} catch (Exception e){
e.printStackTrace();



public static String getBody(HttpServletRequest request) throws IOException {
// Read from request
StringBuilder buffer = new StringBuilder();
BufferedReader reader = request.getReader();
String line;
while ((line = reader.readLine()) '= null) {
buffer.append(line);
}
String data = buffer.toString();
return data;

[Encrypt.java]
package etc;

import java.security.*;
public class Encrypt {
public String sha512(String s){
try{
MessageDigest di = MessageDigest.getinstance("SHA-512");
di.update(s.getBytes());
byte messageDigest[] = di.digest();
StringBuffer hexString = new StringBuffer();
for(int i=0;i<messageDigest.length;i++)
hexString.append(Integer.toHexString(OxFF & messageDigest[i]));
return hexString.toString();
} catch(NoSuchAlgorithmException e){
e.printStackTrace();
}

return "";

[pcdetail2DAO java]
package pcdetail;

import etc.ConnUtil;

import java.sgl.Connection;

import java.sgl.PreparedStatement;
import java.sgl.ResultSet;

import java.sgl.Statement;

public class pcdetail2DAO {
public int deletecount(int pcno) {



int rst = 0;

Connection conn = null;
Statement stmt = null;
ResultSet rs = null;

int count = O;

try {
conn = ConnUtil.getConnection();

String sqgl = "select count(*) from pcdetail2 where pcno=" + pcno;
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
count = rs.getint(1);

if (count > 45) {
sql = "delete from pcdetail2 where pcno=" + pcno + " order by reg_date asc limit 20"
stmt = conn.createStatement();
rst = stmt.executeUpdate(sql);

} catch (Exception e) { e.printStackTrace();
} finally { ConnUtil.close(rs, conn);
} return rst;

public int insertpcdetail(pcdetail2VO vo) {
int rst = 0;
Connection conn = null;
PreparedStatement ps = null;

try {

conn = ConnUtil.getConnection();

String sgl = ‘insert into pcdetail2 (pcno, freespace, size, memory,
memory_vert," + " loadper, temper1, temper2, ping)" + " values (2,2,2,2,2,2,22,)";

ps = conn.prepareStatement(sql);

ps.setint(1, vo.getPcno());

ps.setString(2, vo.getFreespace());

ps.setString(3, vo.getSize());

ps.setint(4, vo.getMemory());

ps.setint(5, vo.getMemory_vert());
6
7
8
9

ps.setint

(

(6, vo.getLoadper());
ps.setint(

(

(

, vo.getTemper1());
ps.setint(8,
ps.setint(9,

vo.getTemper2());
vo.getPing());



rst = ps.executeUpdate();
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(ps, conn);

}

return rst;

public String[] printreg_date(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
String[] reg_date = null;
int numRow = 0;

try {
conn = ConnUtil.getConnection();
String sgl = "select date_format(reg_date, '%i:%s') from pcdetail2 where
pcno=" + pcno + " order by reg_date desc limit 20"

stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
rs.last();
numRow = rs.getRow();
reg_date = new String[numRow];
rs.beforeFirst();
for (int i = O; rs.next(); i++) {
reg_date[i] = rs.getString(1);

}
} catch (Exception e) {

e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);

}

return reg_date;

public int[] printloadper(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;



int[] loadper = null;

I
o

int numRow

try {
conn = ConnUtil.getConnection();
String sql = "select loadper from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 20"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);
if (rs.next()) {
rs.last();
numRow = rs.getRow();
loadper = new intfnumRow];

rs.beforeFirst();
for (int i = O; rs.next(); i++) {
loadper[i] = rs.getint(1);

1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);
}
return loadper;
}
public long[] printmemory(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
long[] memory = null;
int numRow = O;

try {
conn = ConnUtil.getConnection();
String sgl = "select memory from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 20"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
rs.last();
numRow = rs.getRow();
memory = new long[numRow];
rs.beforeFirst();
for (int i = O; rs.next(); i++) {



memory[i] = rs.getLong(1);

1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);
}
return memory;
}
public long[] printmemory_vert(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
long[] memory_vert = null;
int numRow = 0;

try {
conn = ConnUtil.getConnection();
String sgl = "select memory_vert from pcdetail2 where pcno=" + pcno
+ " order by reg_date desc limit 20";

stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
rs.last();
numRow = rs.getRow();
memory_vert = new long[numRow];
rs.beforeFirst();
for (int i = O; rs.next(); i++) {
memory_vert[i] = rs.getLong(1);

}
} catch (Exception e) {

e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);

}

return memory_vert;

public long[] printdiskusage(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;



long[] diskusage = null;
String size = null;
String freespace = null;

try {
conn = ConnUtil.getConnection();
String sgl = "select size, freespace from pcdetail2 where pcno=" +
pcno + " order by reg_date desc limit 1";
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);
if (rs.next()) {
diskusage = new long[2];
size = rs.getString(1);
freespace = rs.getString(2);
1
// 00| E23&Zt 10] ALB S
diskusage[0] = Long.parseLong(freespace) / 1024 / 1024 / 1024;
diskusage[1] = (Long.parseLong(size)-Long.parseLong(freespace))/1024/ 1024 /1024;
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);
}

return diskusage;

public int[] printping(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
int[] ping = null;
int numRow = O;

try {
conn = ConnUtil.getConnection();
String sql = "select ping from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 100";
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);
if (rs.next()) {
rs.last();
numRow = rs.getRow();

ping = new int[numRow];

rs.beforeFirst();
for (int i = 0; rs.next(); i++) {



ping[i] = rs.getint(1);

1

} catch (Exception e) {
e.printStackTrace();

} finally {
ConnUtil.close(rs, conn);

}

return ping;

public int[] printtemper1(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
int[] temper1 = null;
int numRow = 0;

try {
conn = ConnUtil.getConnection();
String sgl = "select temper1 from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 20"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
rs.last();
numRow = rs.getRow();
temper1 = new int[numRow];
rs.beforeFirst();
for (int i = O; rs.next(); i++) {
temper1[i] = rs.getint(1);

1

} catch (Exception e) {
e.printStackTrace();

} finally {
ConnUtil.close(rs, conn);

}

return temper1;

public int[] printtemper2(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;



int[] temper2 = null;
int numRow = O;

try {
conn = ConnUtil.getConnection();
String sgl = "select temper2 from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 20"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);
if (rs.next()) {
rs.last();
numRow = rs.getRow();
temper2 = new int[numRow];
rs.beforeFirst();
for (int i = O; rs.next(); i++) {
temper2[i] = rs.getint(1);

1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);
}

return temper2;

public float avgloadper(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
float loadper = 0;

try {
conn = ConnUtil.getConnection();
String sgl = "select avg(loadper) from pcdetail2 where pcno=" + pcno + "
order by reg_date desc limit 10"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
loadper = rs.getFloat(1);
1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);



}

return loadper;

public float avgtemper1(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
float temper1 = 0;

try {
conn = ConnUtil.getConnection();

String sgl = "select avg(temper1) from pcdetail2 where pcno=" + pcno

+ " order by reg_date desc limit 5"
stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next() {
temper1 = rs.getFloat(1);
1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);

}

return temper1;

public float avgtemper2(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
float temper2 = 0;

try {
conn = ConnUtil.getConnection();
String sqgl = "select avg(temper2) from pcdetail2 where pcno=" + pcno
+ " order by reg_date desc limit 5%

stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
temper2 = rs.getFloat(1);



} catch (Exception e) {
e.printStackTrace();

} finally {
ConnUtil.close(rs, conn);

}

return temper2;

public float avgmemory(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
float memory = 0;

try {
conn = ConnUtil.getConnection();
String sgl = "select avg(memory) from pcdetail2 where pcno=" + pcno
+ " order by reg_date desc limit 10";

stmt = conn.createStatement();
rs = stmt.executeQuery(sql);

if (rs.next()) {
memory = rs.getFloat(1);
}
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);
}

return memory;

public float avgmemory_vert(int pcno) {
Connection conn = null;
Statement stmt = null;
ResultSet rs = null;
float memory_vert = 0;

try {
conn = ConnUtil.getConnection();
String sql = "select avg(memory_vert) from pcdetail2 where pcno=" +

pcno + " order by reg_date desc limit 10"
stmt = conn.createStatement();

rs = stmt.executeQuery(sql);



if (rs.next() {
memory_vert = rs.getFloat(1);
1
} catch (Exception e) {
e.printStackTrace();
} finally {
ConnUtil.close(rs, conn);

}

return memory_vert;

public void deleteDetail2(int pcno) {

Connection conn = null;

PreparedStatement ps = null;

ResultSet rs = null;

try {
conn = ConnUtil.getConnection();
String sgl = "delete from pcdetail2 where pcno
ps = conn.prepareStatement(sql);
ps.setint(1, pcno);
ps.executeUpdate();

} catch (Exception e) {
e.printStackTrace();

} finally {
ConnUtil.close(rs, ps, conn);

[LoginFormServlet.java]

package rsa;

import java.io.lOException;

import java.security.KeyFactory;

import java.security.KeyPair;

import java.security.KeyPairGenerator;
import java.security.PrivateKey;

import java.security.PublicKey;

import java.security.spec.RSAPublicKeySpec;
import javax.servlet.ServletException;

import javax.servlet.http.HttpServlet;

import javax.servlet.http.HttpServletRequest;
import javax.servlet.http.HttpServletResponse;
import javax.servlet.http.HttpSession;



public class LoginFormServlet extends HttpServlet {
public static final int KEY_SIZE = 1024;
protected void processRequest(HttpServietRequest request, HttpServletResponse response)
throws ServletException, |OException {
try {
KeyPairGenerator generator = KeyPairGenerator.getinstance("RSA");
generator.initialize(KEY_SIZE);

KeyPair keyPair = generator.genKeyPair();
KeyFactory keyFactory = KeyFactory.getinstance("RSA");

PublicKey publicKey = keyPair.getPublic();
PrivateKey privateKey = keyPair.getPrivate();

HttpSession session = request.getSession();
/1 M0 SH712] ZXEE 7I=510] ZHQl7[E ML
session.setAttribute("__rsaPrivateKey__", privateKey);
/] SM71E AL E HSHSHO JavaScript RSA 2t0|E2{2| HAFL]
RSAPublicKeySpec publicSpec = (RSAPublicKeySpec) keyFactory.getKeySpec(publicKey,
RSAPublicKeySpec.class);

String publicKeyModulus = publicSpec.getModulus().toString(16);
String publicKeyExponent = publicSpec.getPublicExponent().toString(16);

request.setAttribute("publickeyModulus", publicKeyModulus);
request.setAttribute("publickeyExponent”, publicKeyExponent);

request.getRequestDispatcher("loginform.jsp").forward(request, response);
} catch (Exception ex) {
throw new ServletException(ex.getMessage(), ex);

@Override
protected void doGet(HttpServletRequest request, HttpServletResponse response)
throws ServletException, |OException {
processRequest(request, response);

@Override
protected void doPost(HttpServletRequest request, HttpServletResponse response)
throws ServletException, |OException {
processRequest(request, response);
}
@Override



public String getServletinfo() {
return "Short description”;
}// </editor-fold>

[LoginServlet. java]

package rsa;

import java.io.lOException;

import java.math.Biginteger;

import java.security.PrivateKey;

import javax.crypto.Cipher;

import javax.servlet.ServletException;

import javax.servlet.http.HttpServlet;

import javax.servlet.http.HttpServietRequest;
import javax.servlet.http.HttpServletResponse;
import javax.servlet.http.HttpSession;
import sun.misc.BASE64Decoder;

import sun.misc.BASE64Encoder;

public class LoginServlet extends HttpServlet {
protected void processRequest(HttpServletRequest request, HttpServletResponse response)
throws ServletException, I0Exception {
String securedUsername = request.getParameter("securedUsername");
System.out.printin(securedUsername);
String securedPassword = request.getParameter("securedPassword");
System.out.printin(securedPassword);

HttpSession session = request.getSession();
PrivateKey privateKey =
(PrivateKey) session.getAttribute("__rsaPrivateKey_");
session.removeAttribute("__rsaPrivateKey__");
/7 712 MALE S Y=t g MER 7|8 B=F ZA.

o

if (privateKey == null) {
request.getRequestDispatcher("indexjsp").forward(request, response);
}
try {
String username = decryptRsa(privateKey, securedUsername);
String password = decryptRsa(privateKey, securedPassword);

request.setAttribute("username”, username);
request.setAttribute("password", password);
request.getRequestDispatcher("/login/loginProc.jsp").forward(request, response);



} catch (Exception ex) {
throw new ServletException(ex.getMessage(), ex);

private String decryptRsa(PrivateKey privateKey, String securedValue) throws Exception {
System.out.printIn("will decrypt : " + securedValue);
Cipher cipher = Cipher.getinstance("RSA");
byte[] encryptedBytes = hexToByteArray(securedValue);
cipher.init(Cipher.DECRYPT_MODE, privateKey);
byte[] decryptedBytes = cipher.doFinal(encryptedBytes);
String decryptedValue = new String(decryptedBytes, "utf-8");
return decryptedValue;

}

public static byte[] hexToByteArray(String hex) {
if (hex == null || hexlength() % 2 != 0) {

return new byte[l{};

byte[] bytes = new byte[hex.length() / 2];

for (int i = 0; i < hexlength(); i += 2) {
byte value = (byte)Integer.parselnt(hex.substring(i, i + 2), 16);
bytes[(int) Math.floor(i / 2)] = value;

}

return bytes;
}
@Deprecated

public static byte[] hexToByteArrayBI(String hexString) {
return new Biglnteger(hexString, 16).toByteArray();

}
public static String base64Encode(byte[] data) throws Exception {
BASE64Encoder encoder = new BASE64Encoder();
String encoded = encoder.encode(data);
return encoded;
}

public static byte[] base64Decode(String encryptedData) throws Exception {
BASE64Decoder decoder = new BASE64Decoder();
byte[] decoded = decoder.decodeBuffer(encryptedData);
return decoded;

@Override
protected void doGet(HttpServletRequest request, HttpServletResponse response)



throws ServletException, I0Exception {
processRequest(request, response);

@Override
protected void doPost(HttpServletRequest request, HttpServletResponse response)
throws ServletException, |OException {
processRequest(request, response);

@Override

public String getServletinfo() {
return "Short description”;

Y/ </editor-fold>

[style.scss]

@import 'bourbon’; // http://bourbon.io/

@import '../partials2/variables’; // colors, fonts etc...

@import '../partials2/mixins’; // custom mixins

@import '../partials2/layout’; // responsive grid and media queries

.cd-user-modal {
position: fixed;
top: O;
left: O;
width: 100%;
height: 100%;
background: rgba($color-1, .9);
z-index: $modal-zindex;
overflow-y: auto;

cursor: pointer;

visibility: hidden;
opacity: 0;
@include transition(opacity .3s, visibility .3s);

&.is-visible {
visibility: visible;
opacity: 1;

.cd-user-modal-container {
@include transform(translateY(0));



.cd-user-modal-container {
position: relative;
width: 90%;
max-width: 600px;
background: #FFF;
margin: 3em auto 4em;
cursor: auto;
@include border-radius;
@include transform(translateY(-30px));

@include transition-property (transform);
@include transition-duration(.3s);

.cd-switcher {
@include clearfix;

li {
@include column(.5);
text-align: center;

&:first-child a {
border-radius: .25em 0 0 O;

&:last-child a {
border-radius: 0 .25em 0 O;

display: block;

width: 100%;

height: 50px;

line-height: 50px;
background: $color-3;

color: darken($color-3, 30%);

&.selected {
background: #FFF;

color: $main-text;



@include MQ(S) {
margin: 4em auto;

.cd-switcher a {
height: 70px;
line-height: 70px;

.cd-form {
padding: 1.4em;

fieldset {
position: relative;
margin: 1.4em O;

&:first-child {
margin-top: 0;

&:last-child {
margin-bottom: 0;

label {
@include font-size(14px);

&.image-replace {
/* replace text with an icon */
display: inline-block;
position: absolute;
left: 15px;
@include center(y);
height: 20px;
width: 20px;

overflow: hidden;
text-indent: 100%;
white-space: nowrap;
color: transparent;

text-shadow: none;

background-repeat: no-repeat;
background-position: 50% O;



&.cd-username {
background-image: url('../images/login/ cd-icon-username.svg’);

}

&.cd-email {
background-image: url('../images/login/ cd-icon-email.svg');

}

&.cd-password {
background-image: url('../images/login/ cd-icon-password.svg'");

}

input {
margin: O;
padding: 0;
@include border-radius;

& full-width {
width: 100%;

&.has-padding {
padding: 12px 20px 12px 50px;

&.has-border {
border: 1px solid $color-3;
@include appearance(none);

&:focus {
border-color: $color-1;
box-shadow: 0 0 5px rgba($color-1, .1);
outline: none;

&.has-error {
border: 1px solid $red;

&[type=password] {
/* space left for the HIDE button */
padding-right: 65px;



&[type=submit] {
padding: 16px O;
cursor: pointer;
background: $color-2;
color: #FFF;
font-weight: bold;
border: none;
@include appearance(none);

.no-touch &:hover, .no-touch &:focus {
background: lighten($color-2, 5%);
outline: none;

.hide-password {
display: inline-block;
position: absolute;
right: O;
top: O;
padding: 6px 15px;
border-left: 1px solid $color-3;
@include center(y); // see partials > _mixins.scss
@include font-size(14px);
color: $color-1;

.cd-error-message {
display: inline-block;
position: absolute;
left: -5px;
bottom: -35px;
background: rgba($red, .9);
padding: .8em;
z-index: 2;
color: #FFF;
@include font-size(13px);
@include border-radius;

/B Y

pointer-events: none;

visibility: hidden;



opacity: 0;
@include transition(opacity .2s O, visibility 0 .2s);

&::after {
/* triangle */
content: ;
position: absolute;
left: 22px;
bottom: 100%;
@include triangle(16px, rgba($red, .9), up);

}
&Lis-visible {

opacity: 1;

visibility: visible;

@include transition(opacity .2s O, visibility 0 0);
}

@include MQ(S) {
padding: 2em;

fieldset {

margin: 2em 0;
&:first-child {

margin-top: 0;

&:last-child {
margin-bottom: 0;

input.has-padding {
padding: 16px 20px 16px 50px;

input[type=submit] {
padding: 16px O;



.cd-form-message {
padding: 1.4em 1.4em O0;
@include font-size(14px);
line-height: 1.4;
text-align: center;

@include MQ(S) {
padding: 2em 2em 0;

.cd-form-bottom-message {
position: absolute;
width: 100%;
left: O;
bottom: -30px;
text-align: center;
@include font-size(14px);

ad{
color: #FFF;
text-decoration: underline;

.cd-close-form {
/* form X button on top right */
display: block;
position: absolute;
width: 40px;
height: 40px;
right: O;
top: -40px;
background: url('../img/cd-icon-close.svg') no-repeat center center;
text-indent: 100%;
white-space: nowrap;
overflow: hidden;

@include MQ(L) {
display: none;

#cd-login, #cd-signup, #cd-reset-password {
display: none;



#cd-login.is-selected, #cd-signup.is-selected, #cd-reset-password.is-selected {
display: block;

[main.css]

/***********main_‘?l__i_ drop dowm******/
.dropdown:hover .dropdown-menu {
display: block;

.navbar .nav lidropdown.open > .dropdown-toggle,
.navbar .nav li.dropdown.active > .dropdown-toggle,
.navbar .nav li.dropdown.open.active > .dropdown-toggle {

color: #555555;
background-color: #000;
outline: 0;
-webkit-box-shadow: none;
-moz-box-shadow: none;
box-shadow: none;

.dropdown-menu:after,
.dropdown-menu:before {
top: -1px;
left: 10px;

content: ";

.dropdown-menu {
border-top: 5px solid transparent;
position: absolute;
top: 70%;
left: O;
z-index: 1000;
display: none;
float: left;
min-width: 500px;
max-width: 700px;
padding: Opx O;
margin: Opx 0 O O;
list-style: none;
text-shadow: none;



-webkit-border-radius: Opx;
-moz-border-radius: Opx;
border-radius: Opx;
-webkit-box-shadow: none;
-moz-box-shadow: none;
box-shadow: none;
color: #ffffff;

.dropdown-menu.pull-right {
right: 0;
left: auto;

.dropdown-menu .divider {
*width: 100%;
height: 1px;
margin: Opx 1px;
*margin: -5px 0 5px;
overflow: hidden;
background-color: #eee;

border-bottom: 1px solid #ffffff;

.dropdown-menu |i a {
display: block;

padding: 7px 10px limportant;

clear: both;
font-weight: normal;
line-height: 20px;
color: #000;
text-shadow: none;

white-space: normal limportant;

.dropdown-menu i {

border-bottom: 1px solid #eee;

.dropdown-menu li:first-child {
border-top: Opx !important;

.dropdown-menu li:last-child {

border-bottom: Opx limportant;



.dropdown-menu li > a:hover,

.dropdown-menu li > a:focus,

.dropdown-submenu:hover > a {
color: #d0fbf2;
text-decoration: none;
background: #578EBE;

.dropdown-menu .active > a,

.dropdown-menu .active > a:hover {
color: #d0fbf2;
text-decoration: none;
background: #578EBE;

.dropdown-menu .disabled > a,
.dropdown-menu .disabled > a:hover {
color: #999999;

.dropdown-menu .disabled > a:hover {
text-decoration: none;
cursor: default;
background-color: transparent;

.dropdown-menu-title {
background: #222;
color: #fff,
padding: 8px 0px;
position: relative;

.dropdown-menu-title span {
margin-left: 20px;

.dropdown-menu-title a:link {
position: absolute;
right: 4px;
top: 4px;
padding: 4px 6px limportant;

.dropdown-menu-title a i {



color: #fff;

.dropdown-menu-title a:hover {
background: #fff limportant;

.dropdown-menu-title a:hover i {
color: #222 limportant;

.dropdown-menu-sub-footer {
background: #eee;

.dropdown-menu ul,
dropdown-menu ul li {
padding: Opx limportant;
margin: Opx !important;

/**************A-I H-l %% A-I H—| 2% D-ll%_‘?’_*/

#sidebar-left {

background: #ffffff;
margin-left: 10px;

width: 100px;
cursor: pointer;
}

sidebar-nav > ul{
margin: Opx;
padding-bottom: 1px;
font-size: 14px;

sidebar-nav > ul > li > ul {
list-style: none;
margin: Opx;
display: none;
background: rgba(0,0,0,.25);

/‘k‘k*******pc Cha rt***/



#includedContent{
width: 300px;
margin-left: 10px;
margin-right: 1050px;
background: #c6a299;

.wrapper-dropdown-3 {
/* Size and position */
position: relative;
width: 200px;
margin: 0 auto;
padding: 10px;

/* Styles */

background: #fff;

border-radius: 7px;

border: 1px solid rgba(0,0,0,0.15);
box-shadow: 0 1px 1px rgba(50,50,50,0.1);
cursor: pointer;

outline: none;

/* Font settings */
font-weight: bold;
color: #ffffff;

.wrapper-dropdown-3:after {
content: "";
width: O;
height: O;
position: absolute;
right: 15px;
top: 50%;
margin-top: -3px;
border-width: 6px 6px 0 6px;
border-style: solid;
border-color: #8aa8bd transparent;

wrapper-dropdown-3 .dropdown {
/* Size & position */
position: absolute;
top: 140%;
left: 0;
right: 0;



/* Styles */

background: white;

border-radius: inherit;

border: 1px solid rgba(0,0,0,0.17);
box-shadow: 0 0 5px rgba(0,0,0,0.1);
font-weight: normal;
-webkit-transition: all 0.5s ease-in;
-moz-transition: all 0.5s ease-in;
-ms-transition: all 0.5s ease-in;
-o-transition: all 0.5s ease-in;
transition: all 0.5s ease-in;
list-style: none;

/* Hiding */
opacity: 0;
pointer-events: none;

wrapper-dropdown-3 .dropdown:after {
content: "";
width: 0;
height: 0;
position: absolute;
bottom: 100%;
right: 15px;
border-width: 0 6px 6px 6px;
border-style: solid;
border-color: #fff transparent;

.wrapper-dropdown-3 .dropdown:before {
content: "";
width: O;
height: O;
position: absolute;
bottom: 100%;
right: 13px;
border-width: 0 8px 8px 8px;
border-style: solid;
border-color: rgba(0,0,0,0.1) transparent;

wrapper-dropdown-3 .dropdown |i a {
display: block;
padding: 10px;



text-decoration: none;

color: #8aa8bd;

border-bottom: 1px solid #e6e8ea;
box-shadow: inset 0 1px 0 rgba(255,255,255,1);
-webkit-transition: all 0.3s ease-out;
-moz-transition: all 0.3s ease-out;
-ms-transition: all 0.3s ease-out;

-o-transition: all 0.3s ease-out;

transition: all 0.3s ease-out;

}

wrapper-dropdown-3 .dropdown i i {
float: right;
color: inherit;

1

wrapper-dropdown-3 .dropdown li:first-of-type a {
border-radius: 7px 7px 0 0;

wrapper-dropdown-3 .dropdown li:last-of-type a {
border: none;
border-radius: 0 0 7px 7px;

/* Hover state */

wrapper-dropdown-3 .dropdown li:hover a {
background: #f3f8f8;

/* Active state */

.wrapper-dropdown-3.active .dropdown {
opacity: 100;
pointer-events: auto;

}

/* No CSS3 support */

/******pc Info page***/

#includedContent2{

position:absolute; left:30%; overflow:hidden; background-color:#eeeeee;



/**************alert message*******/
#msg {

position: fixed;

opacity: 0;

filter: alpha(opacity=0);

width: 400px;

top: -300px;

left: 50%;

margin-left: -200px;

-webkit-transition: opacity 0.3s linear, top 0.3s ease-out, bottom 0.3s ease-out, margin-top 0.3s
ease-out;

-moz-transition: opacity 0.3s linear, top 0.3s ease-out, bottom 0.3s ease-out, margin-top 0.3s
ease-out;

-o-transition: opacity 0.3s linear, top 0.3s ease-out, bottom 0.3s ease-out, margin-top 0.3s
ease-out;

transition: opacity 0.3s linear, top 0.3s ease-out, bottom 0.3s ease-out, margin-top 0.3s
ease-out;

z-index: 100000000000;

#msg i {
font-size: 20px;
vertical-align: middle;

#msg span {
font-size: 15px;

#msg.showed {
opacity: 1;
filter: alpha(opacity=100);
top: 50px;

@media (min-width: 1200px) {
#msg {
width: 600px;
margin-left: -300px;

@media (max-width: 479px) {
#msg {
width: 300px;



margin-left: -150px;

/********7 | %_I?l_************/

body {
font-family: 'Open Sans', sans-serif;
font-size: 13px;
line-height: 24px;
color: #400040;
background-color: #fff;

h1, h2, h3, h4, h5, h6 {
color: #333;

h2 {
font-size: 50px;
margin-bottom: 10px;

h3 {
font-size: 18px;

parallax {
background-size: cover;
background-repeat: no-repeat;
background-position: center;
background-attachment: fixed;

.parallax,
parallax h1,
.parallax h2,
.parallax h3,
.parallax h4,
.parallax h5,
.parallax h6é {
color: #fff,

.parallax input[type="text"],
.parallax input[type="text":hover,



.parallax input[type="email"],
.parallax input[type="email"]:hover,
parallax input[type="url"],
parallax input[type="url"]:hover,
.parallax input[type="password"],
.parallax input[type="password"]:hover,
.parallax textarea,
.parallax textarea:hover {

font-weight: 300;

color: #fff;

btn {
border: 0;
border-radius: 0;

.btn.btn-primary:hover {
background-color: #ff0080;

.navbar-nav li a:hover,

.navbar-nav li a:focus {
outline:none;
outline-offset: 0;
text-decoration:none;
background: #7a706e;

a {
text-decoration: none;
-webkit-transition: 300ms;
-moz-transition: 300ms;
-o-transition: 300ms;
transition: 300ms;

a:focus,
a:hover {
text-decoration: none;

outline: none

section {
padding: 90px O;



.heading {
padding-bottom:90px;

.preloader {
position: fixed;
top: O;
left: O;
right: O;
bottom: 0;
z-index: 999999;
background: #fff;

.preloader > i {
position: absolute;
font-size: 36px;
line-height: 36px;
top: 50%;
left: 50%;
height: 36px;
width: 36px;
margin-top: -15px;
margin-left: -15px;
display: inline-block;

JrEFxxRrskHOME slider & &
#home-slider {
overflow: hidden;
position: relative;

#home-slider .caption {
position: absolute;
top: 50%;
margin-top: -148px;
left: O;
right: O;
text-align: center;
text-transform: uppercase;
z-index: 15;
font-size: 18px;
font-weight: 300;
color: #fff;



}

#home-slider .img-item{

position: static;
top: 5%;
margin-top: -221px;
left: O;
right: O;
z-index: 15;

}

#home-slider .img-item2{

position: static;
top: 5%;
margin-top: -170px;
margin-left: 560px;

#home-slider .caption h1 {
color: #fff;
font-size: 40px;
font-weight: 200;
margin-bottom: 10px;
text-align: inherit;

.caption .btn-start {
color: #fff;
font-size: 14px;
font-weight: 600;
padding:14px 40px;
border: 1px solid #6e6d6c;
border-radius: 4px;
margin-top: 40px;

.caption .btn-start:hover {
color: #fff



.carousel-fade .carousel-inner .item {

opacity: 0;

-webkit-transition-property: opacity;

transition-property: opacity;

background-repeat: no-repeat;

background-size: cover;
height: 2037px;

margi

n: auto;

.carousel-fade .carousel-inner .item:after {

"o,

content: ;

position: absolute;

top: O;
bottom: 0;
left: O;
right: O;
background:

.carousel-fade
opacity: 1;
1
.carousel-fade
.carousel-fade
left: O;
opacity: 0;
z-index: 1;
1
.carousel-fade
.carousel-fade .
opacity: 100;
1

rgba(0,0,0,.7);

.carousel-inner

.carousel-inner
.carousel-inner

.carousel-inner

carousel-inner

.active {

.active.left,

activeright {

.next.left,
.prev.right {

.carousel-fade .carousel-control {

z-index: 1;

left-control, .right-control {

position: absolute;

top: 50%;
height: 40px;
width: 40px;

line-height: 48px;
border-radius: 50%;
border:1px solid #fff;



z-index: 20;

font-size: 24px;

color: #fff;

text-align: center;
-webkit-transition: all 0.5s ease;
-moz-transition: all 0.5s ease;
-ms-transition: all 0.5s ease;
-o-transition: all 0.5s ease;
transition: all 0.5s ease;

left-control {
left: -51px

right-control {
right: -51px;

left-control:hover,
right-control:hover {
color: #fff;

#home-slider:hover .left-control {
left:30px

#home-slider:hover .right-control {
right:30px

#home-slider .fa-angle-down {
position: absolute;
left: 50%;
bottom: 50px;
color: #fff;
display: inline-block;
width: 24px;
margin-left: -12px;
font-size: 24px;
line-height: 24px;
z-index: 999;
-webkit-animation: bounce 3000ms infinite;
animation: bounce 3000ms infinite;



.navbar-right li a {
color: #fff;
text-transform: uppercase;
font-size: 14px;
font-weight: 600;
padding-top: 30px;
padding-bottom: 30px;

.navbar-right li.active a {
background-color: rgba(0,0,0,.2);

.navbar-brand h1 {

margin-top: 1px;

}

.navbar-brand h2 {
margin-left: 230px;

margin-right: 230px;
margin-top: 1px;

/ NEES

.service-icon {
border-radius: 4px;
color: #fff;
display: inline-block;
font-size: 60px;

height: 90px;

line-height: 90px;

width: 90px;

-webkit-transition: background-color 0.2s ease;
transition: background-color 0.2s ease;

.our-services .col-sm-4:hover .service-icon {

background-color: #333;

.our-services .col-sm-4 {



border-right:1px solid #f2f2f2;
border-bottom:1px solid #f2f2f2;
padding-bottom: 50px;

.our-services .col-sm-4:nth-child(4),
.our-services .col-sm-4:nth-child(5),
.our-services .col-sm-4:nth-child(6) {
border-bottom:0;
padding-top: 60px;

.our-services .col-sm-4:nth-child(3),
.our-services .col-sm-4:nth-child(6) {
border-right:0;

service-info h3 {
margin-top: 35px;

/**************WOW EDI _)‘\_7H
#team {
padding-top: 0;

team-members {

margin-bottom: 15px;

.social-icons {
margin-top:30px;
text-align: center;

.social-icons ul {
list-style: none;
padding: 0;
margin: 0;
display: inline-block;

.social-icons ul i {
float: left;
margin-right: 8px;



.social-icons ul li:last-child {
margin-right: O;

.social-icons ul li a {
color:#fff;
background-color: #d9d9d9;
height: 40px;
width: 40px;
line-height: 36px;
display: list-item;
font-size: 16px;
opacity: 0.8;

.social-icons ul li a:hover {
opacity: 1;
-webkit-transform: scale(1.2);
transform: scale(1.2);

team-member {
text-align: center;
color: #333;
font-size: 14px;

team-member:hover .social-icons ul li a.facebook {
background-color: #3b5999;

1

team-member:hover .social-icons ul li a.twitter {
background-color: #2ac6f7;

team-member:hover .social-icons ul li a.linkedin {
background-color: #ff5b92;

1

team-member:hover .social-icons ul li a.rss {
background-color: #ff6b00;

#team .img-responsive {
width: 100%;



.member-info h3 {
margin-top: 35px;

.member-info h4 {
font-size: 14px;
margin-bottom: 15px;
color: #999;

JRxkRrksFagtures CSSHFHkeirki/
#features {

text-align: center;

background-image: url(../images/features-bg.jpg);

#features i {
font-size: 48px;

#features h3 {
margin-top: 15px;
font-size: 30px;
margin-bottom: 7px;
color: #fff;

#features .slider-overlay {
opacity: 0.8;

/*********Pricing Table CSS*****************/
.pricing-table {
text-align: center;

single-table {
padding: 30px 20px 20px;
border:1px solid #f2f2f2;

.single-table h3 {
margin-top: 0;
padding: 0;
font-size: 18px;
text-transform: uppercase;



margin-bottom: 30px;

.price {
font-size: 36px;
line-height: 36px;

.price span {
font-size: 14px;
line-height: 14px;

.single-table ul {
list-style: none;
padding: 0;
margin: 30px O;

single-table ul i {
line-height: 30px;

single-table.featured {
color: #fff;

single-table.featured h3 {
color: #fff;

single-table.featured .btn.btn-primary {
background-color: #fff;

/*******Twitter CSS**************/
#twitter {
background-image: url(../images/twitter-bg.jpg);

#twitter > div {
text-align: center;
position: relative;

#twitter-carousel {



position: relative;
z-index: 15

twitter-icon {
position: relative;
z-index: 15;
color: #fff;

twitter-icon fa-twitter {
font-size: 24px;
height: 64px;
width: 64px;
line-height: 65px;
border-radius: 50%;
position: relative;

twitter-icon fa-twitter:after {
position: absolute;
content: "";
border-width: 8px;
border-style: solid;
left: 24px;
bottom: -14px;

#twitter-carousel .item {
padding: 0 55px;

#twitter-carousel .item a {
color: #fff;

twitter-icon h4 {
text-transform: uppercase;
margin-top: 25px;
margin-bottom: 25px;
color: #fff;

twitter-left-control,
twitter-right-control {
position: absolute;



top: 50%;

color: #fff;

border: 1px solid #fafafa;
height:34px;

width: 34px;

line-height: 31px;
margin-top: -17px;
font-size: 18px;
border-radius: 50%;
z-index: 15

twitter-left-control {
left: 80px;

twitter-right-control {
right: 80px

twitter-left-control:hover, .twitter-right-control:hover {
color: #fff;

*hkkkkhkk AFChkkkkkkkkkkkkkkk
/ nELPS = /

#contact {
padding-top: 45px;
padding-bottom: 0;

#google-map {
height: 350px;

#contact-us {
background-image:url(../images/contact-bg.jpg);
padding-bottom: 90px;

#contact-us .heading {
padding-top: 95px;

form-control {
background-color: transparent;
border-color: rgba(255,255,255,.1);



height: 50px;
border-radius: 0;
box-shadow: none;

textarea.form-control {
min-height: 180px;
resize:none;

form-group {
margin-bottom: 30px;

.contact-info {
padding-left:70px;
font-weight: 300;

ul.address {
margin-top: 30px;
list-style: none;
padding: 0;
margin: 0;

.contact-info ul i {
margin-bottom: 8px;

.contact-info ul li a {
color: #fff;

btn-submit {
display: block;
padding: 12px;
width: 100%;
color: #fff;
border:0;
margin-top: 40px;

#footer {
color:#fff;



footer-top {
position: relative;
padding:30px 0

#footer .footer-bottom {
background-color: #fff;
padding: 20px 0 10px;

#footer .footer-bottom a:hover {
text-decoration: underline;

footer-logo {
display: inline-block;
margin-bottom: 5px;

#footer .social-icons {
margin-top: 15px;

#footer .social-icons ul {
list-style: none;
padding: 0;
margin: 0;

#footer .social-icons ul li a {
background-color: rgba(0,0,0,.2);
border-radius: 4px;
line-height: 33px;

#footer .social-icons ul li a:hover {
color: #fff

#footer .social-icons ul li a.envelope:hover {
background-color: #CECB26;

/*Presets*/



[diskusage_data.jsp]

<%@ page language="java" contentType="text/html; charset=EUC-KR"
pageEncoding="EUC-KR"%>

<jsp:useBean id="dao" class="pcdetail.pcdetail2DAO" />

<%
int pcno = Integer.parselnt((String) session.getAttribute("pcno™));
StringBuilder sb = new StringBuilder();
long[] diskusage = dao.printdiskusage(pcno);
String[] reg_date = dao.printreg_date(pcno);
sb.append("[[AH8/0IALE " HE S7H],");
sb.append("[" + "AF&ZFs" + ™" + diskusage[0] + ",")
sb.append("[" + "AFE 27" + ™" + diskusage[1] + "1,");
sb.append(""); %>

<%=sb.toString()%>

i

[diskusage.jsp]

<%@ page language="java" contentType="text/html; charset=UTF-8"
pageEncoding="UTF-8"%>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01
"http://www.w3.org/TR/html4/loose.dtd" >

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=UTF-8">
<title>Insert title here</title>
</head>
<script type=
"text/javascript" src="http://code.jquery.com/jquery-1.8.2.min js"> </script>
<script type="text/javascript" src="http://www.google.com/jsapi"> </script>
<script type="text/javascript">

google.load('visualization', '1', {packages: ['corechart']});

function drawchart(dataFromAjax){
var data_t = google.visualization.arrayToDataTable(dataFromAjax);
var option_t = {
title’ C| A3 AFEEY,
backgroundColor:{stroke: #99FF33',
pieHole: 0.4,
chartArea:{left:40,width:'100%', height:'84%,

Transitional//EN"

tooltip: {textStyle: {fontName: 'TimesNewRoman'fontSize: 20,bold: true}}

2

var chart_t = new
google.visualization.PieChart(document.getElementByld('diskusage"));

chart_t.draw(data_t, option_t);



function drawlnit(){
var data = null;
var table_data = null;

$.ajax({
url:'../detail/diskusage_data.jsp’,
data: {},
success: function(res) {
table_data = eval("("+res+")");
drawchart(table_data);

1
1
google.setOnLoadCallback(drawlnit);
setInterval(function() {drawlnit(); }, 1000);
</script>
<body>
<div id="diskusage"> </div>
</body>
</html>

[downZIP jsp]

<%@ page language="java" contentType="text/html; charset=EUC-KR"
pageEncoding="EUC-KR"%>

<%@ page import="java.io.*"%>

<%@ page import="java.text.*" %>

<%@ page import="java.lang.*" %>

<%@ page import="java.util.*" %>

<%@ page import="java.net.*" %>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01
"http://www.w3.org/TR/html4/loose.dtd" >

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<title>Insert title here</title>
</head>
<body>
<%
/oY HEEE ER
String root = "C:#WUsersWUserw#DocumentsWSRMWW";
String savePath = root;
// MEOf 2H MEE el
String filename = "SRM.zip";
/SR HEE oy

Transitional//EN"



String orgfilename = "SRM.zip";

InputStream in = null;
OutputStream os = null;
File file = null;

boolean skip = false;

String client = ";
try { // TEE AN 2EF Y|
try {

file = new File(savePath, filename);
in = new FilelnputStream(file);
} catch (FileNotFoundException fe) {
skip = true;
1
client = request.getHeader("User-Agent");
// T LR2E §H XF
response.reset();
response.setContentType("application/octet-stream”);
response.setHeader("Content-Description”, "JSP Generated Data");

if (Iskip) { // IE
if (client.indexOf("MSIE") = -1) {
response.setHeader("Content-Disposition"”, "attachment; filename=" +
new String(orgfilename.getBytes("KSC5601"), "ISO8859_1"));
} else {// o2 TYYH A
orgfilename = new String(orgfilename.getBytes("utf-8"), "iso-8859-1");

response.setHeader("Content-Disposition”, "attachment; filename=#"" + orgfilename + "W"");

non

response.setHeader("Content-Type", "application/octet-stream; charset=utf-8"); }

response.setHeader("Content-Length"”, "" + file.length());

os = response.getOutputStream();
byte b[] = new byte[(int) file.length()];
int leng = 0;

while ((leng = in.read(b)) > 0) {
os.write(b, O, leng);

} else {
response.setContentType("text/html;charset=UTF-8");
out.printin("<script language="'javascript'>alert(ItY S &S 4 UELICH);
history.back(); </script>");}
in.close();
os.close();
} catch (Exception e) {



e.printStackTrace();

%>
</body>
</html>

[index,jsp]

<jsp:forward page="/loginForm" />

[loginform.jsp]

<%@ page language="java" contentType="text/html; charset=UTF-8"
pageEncoding="UTF-8"%>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"
"http://www.w3.org/TR/html4/loose.dtd" >
<%

String publickeyModulus = (String) request.getAttribute("publicKeyModulus™");
String publicKeyExponent = (String) request.getAttribute("publicKeyExponent");
%>
<html>
<head>
<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<meta name="viewport" content="width=device-width, initial-scale=1">
<meta name="description" content="">
<meta name="author" content="">
<title>Insert title here</title>
<script type="text/javascript" src="js/jquery.js"></script>
<script type="text/javascript" src="js/bootstrap.min.js"> </script>
<script type="text/javascript" src="http://maps.google.com/maps/api/js?sensor=true"></script>
<script type="text/javascript" src="js/jquery.inview.min js"> </script>
<script type="text/javascript" src="js/wow.min.js"></script>
<script type="text/javascript" src="js/mousescrolljs"> </script>
<script type="text/javascript" src="js/smoothscrolljs"> </script>
<script type="text/javascript" src="js/jquery.countTo.js"></script>
<script type="text/javascript" src="js/lightbox.min.js"> </script>
<script type="text/javascript" src="js/main.js"></script>
<script type="text/javascript” src="./js/rsa/jsbn.js"></script>
<script type="text/javascript" src="/js/rsa/rsajs"></script>
<script type="text/javascript" src="/js/rsa/prng4.js"></script>
<script type="text/javascript" src="./js/rsa/rng.js"> </script>
<script type="text/javascript" src="./js/login.js"></script>
<link href="css/bootstrap.min.css" rel="stylesheet">
<link href="css/animate.min.css" rel="stylesheet">
<link href="css/font-awesome.min.css" rel="stylesheet">
<link href="css/lightbox.css" rel="stylesheet">



<link href="css/main.css" rel="stylesheet">
<link id="css-preset" href="css/mintcss/mint.css" rel="stylesheet">
<link href="css/responsive.css" rel="stylesheet">

<link  href="http://fonts.googleapis.com/css?family=0Open+Sans:300,400,600,700'  rel='stylesheet’
type="text/css'>
<link rel="shortcut icon" href="images/favicon.ico">
<link rel="stylesheet" href="http://
cdnjs.cloudflare.com/ajax/libs/font-awesome/4.4.0/css/font-awesome.min.css">
<emmme- login link -=--==--=mmmmmmmmm e >
<link rel="stylesheet" href="css/login/style.css">
<script src="js/modernizr.js"> </script>
<script src=
"http://ajax.googleapis.com/ajax/libs/jquery/1.11.0/jquery.min.js"> </script>
<script src="js/login1js"></script> <!-- Gem jQuery -->
R R e T >
<style>
ul{
list-style:none;
}
</style>
</head>
<body>
<div class="main-nav">
<div class="container">
<div class="navbar-header">
<button type="button" class="navbar-toggle" data-toggle="collapse"
data-target=".navbar-collapse">
<span class="sr-only">Toggle navigation</span>
<span class="icon-bar"> </span>
<span class="icon-bar"> </span>
<span class="icon-bar"> </span>
</button>
<a class="navbar-brand"><h1><img src="images/sclogo.png"></h1></a>
<a class="navbar-brand" href="/indexjsp">
<h2><img class="img-responsive" src="images/logo.png" alt="logo"> </h2></a>

</div>
<div class="collapse navbar-collapse">
<ul class="nav navbar-nav navbar-right">
<li><a class="cd-signin" href="#0">=2110l</a></li>
<li><a class="cd-signup" href="#0">2| &7} </a> </li>
</ul></div> </div> </div>
<!-- preloader-->
<div class="preloader"> <i class="fa fa-circle-o-notch fa-spin"> </i></div>
<!--/.preloader-->
<header id="home">



<div class="main-nav">
<div id="join"></div>
<l-- 27901 2 __»
<div id="login">
<div class="cd-user-modal">
<div class="cd-user-modal-container">
<ul class="cd-switcher">
<li><a class="cd-signin" href="#0">&2192l</a></li>
<li><a class="cd-signup" href="#0">3| A7} L </a></li>
</ul>
<div id="cd-login"> <!-- log in form -->
<div class="cd-form">
<p class="fieldset">
<label class="image-replace cd-username" for="signin-id">E-mail</label>
<input class="full-width has-padding has-border” na
id="signin-email" type="email" placeholder="E-mail"></p>
<p class="fieldset">
<label class="image-replace cd-password" for="signin-password">Password</label>
<input class="full-width has-padding has-border"
id="signin-password" type="password" placeholder="Password">
<a href="#0" class="hide-password">Show</a> </p>
<p class="fieldset">
<input type="hidden" id="rsaPublickeyModulus" value="<%=publicKeyModulus%>" />
<input type="hidden" id="rsaPublicKeyExponent" value="<%=publicKeyExponent%>" />
<form id="securedindex" name="securedindex" action=
"<%=request.getContextPath()%>/login" method="post" style="display: none;">
<input type="hidden" name="securedUsername" id="securedUsername" value="" />
<input type="hidden" name="securedPassword" id="securedPassword" value="" />
</form>
<a href="/loginFailurejsp" onclick="validateEncryptedForm(); return false;">
<input class="full-width" type="submit" value="Login"></a>
</p>
<p class="cd-form-bottom-message"><a href="#0">H|ZHZ &7|</a></p>
</div>
</div>
<div id="cd-signup"> <!-- 2| A7} form -->
<form class="cd-form" action="./join/joinOK jsp" method=post>
<p class="fieldset">
<label class="image-replace cd-username" for="signup-username">Username</label>

me="email"

name="pw"

<input class="full-width has-padding has-border" name="name"

id="signup-username" type="text" placeholder="Username"></p>
<p class="fieldset">
<label class="image-replace cd-email" for="signup-email">E-mail</label>

<input class="full-width has-padding has-border” name="email"

id="signup-email" type="email" placeholder="E-mail"></p>
<p class="fieldset"> <label class="image-replace cd-password" for="signup-password">



Password</label>
<input class="full-width has-padding has-border" name="pw"
id="signup-password" type="password" placeholder="Password">
<a href="#0" class="hide-password">Show</a></p>
<p class="fieldset">
<input class="full-width has-padding" type="submit" value="2| & 7} &"></p>
</form> </div> <l-- cd-signup -->
<div id="cd-reset-password"> <!-- reset password form -->
<p class="cd-form-message">H|ZHSE XoA|ZHH 7|Y s FML.</p>
<form class="cd-form" action="./find/findPWP jsp">
<p class="fieldset">
<label class="image-replace cd-email" for="reset-email">E-mail </label>
<input class="full-width has-padding has-border" name="email" id="reset-email" type="email"
placeholder="E-mail"></p>
<p class="fieldset">
<input class="full-width has-padding" type="submit" value="H|ZH3Z XUZ B7|"></p>
</form>
<p class="cd-form-bottom-message"><a href="#0">E2 12192 FO0}7}7|</a></p>
</div> <!-- cd-reset-password -->
<a href="#0" class="cd-close-form">Close</a>
</div>
</div>
</div> </div>
<div id="home-slider" class="carousel slide carousel-fade" data-ride="carousel">
<div class="carousel-inner">
<div class="item active" style="background-image: url(images/slider/s1.png)">
<div class="caption">
<h1 class="animated fadelnLeftBig">SRMS| Z&Hdt<span>HA|Zt RLIEHE </span>7|s5</h1>
<a data-scroll class="btn btn-start animated fadelnUpBig" href="#services">Start now</a></div>
</div>
<div class="item" style="background-image: url(images/slider/s2.png)">
<div class="caption">
<div class="img-item">
<img alt="" src="images/slider/srm.png"> </div>
<h1 class="animated fadelnLeftBig">SRM2|<span>®HZ X 0| </span>7|&5</h1>
<p class="animated fadelnRightBig">&1 ZtEHSH AKX O MH|A</p>
<a data-scroll class="btn btn-start animated fadelnUpBig" href="#services">Start
now</a></div> </div>
<div class="item" style="background-image: url(images/slider/s3.png)">
<div class="caption">
<div class="img-item2">

n

<img alt="" src="images/slider/fee.png"> </div>

<h1 class="animated fadelnLeftBig">SRM2| <span>F&</span>AlH|A</h1>

<p class="animated fadelnRightBig">0| 2 & 7|52 F&EZE AESINRI</p>

<a data-scroll class="btn btn-start animated fadelnUpBig" href="#services">Start
now</a></div></div></div>



<a class="left-control" href="#home-slider" data-slide="prev"><i class="fa
fa-angle-left"> </i></a>

<a class="right-control" href="#home-slider' data-slide="next"> <i class="fa
fa-angle-right"></i> </a>
<a id="tohash" href="#services"><i class="fa fa-angle-down"> </i></a>
</div> <!--/#home-slider-->
<div class="main-nav">
<div class="container">
<div class="navbar-header">
<button type="button" class="navbar-toggle" data-toggle="collapse"
data-target=".navbar-collapse">
<span class="sr-only">Toggle navigation</span>
<span class="icon-bar"></span>
<span class="icon-bar"> </span>
<span class="icon-bar"> </span>
</button>
<a class="navbar-brand"><h1><img src="images/sclogo.png"></h1></a>
<a class="navbar-brand" href="/indexjsp">
<h2><img class="img-responsive" src="images/logo.png" alt="logo">
</h2></a></div>
<div class="collapse navbar-collapse">
<ul class="nav navbar-nav navbar-right">
<li class="scroll active"><a href="#home">Home</a></li>
<li class="scroll"><a href="#services">Service</a></li>
<li class="scroll"><a href="#team">Team</a> </li>
<li class="scroll"><a href="#contact">Contact</a></li></ul> </div></div>
</div><!--/#main-nav-->
</header> <!--/#home-->
<section id="services">
<div class="container">
<div class="heading wow fadelnUp" data-wow-duration="1000ms" data-wow-delay="300ms">
<div class="row">
<div class="text-center col-sm-8 col-sm-offset-2">
<h2>0Our Services</h2>
<h4><b>AMH[AT, Of2 &X| MYS OLFMR.</b></h4>
<div class="main-nav"></div> </div></div></div>
<div class="text-center our-services">
<div class="row">
<div class="col-sm-4 wow fadelnDown" data-wow-duration="1000ms"
data-wow-delay="300ms" onclick="location="/down/downZIP jsp"'>
<div class="service-icon">
<p><p><i class="fa fa-bar-chart"></i></div>
<div class="service-info">
<h3><b>SRM.zip</b></h3>
<h5>Z22}0|HE® MX|It </h5> </div> </div>

<div class="col-sm-4 wow fadelnDown" data-wow-duration="1000ms"



data-wow-delay="450ms" onclick="location="./down/downPPT jsp"">
<div class="service-icon">
<p><p><i class="fa fa-list-alt"></i> </div>
<div class="service-info">
<h3><b>SRM.pptx</b></h3>
<h5>Z 23 AJ| PPT</h5> </div></div>
<div class="col-sm-4 wow fadelnDown" data-wow-duration="1000ms"
data-wow-delay="550ms" onclick="window.open
(*https://chrome.google.com/webstore/detail/ie-tab/hehijbfgiekmjfkfjpbkbammjbdenadd?hi=ko’,
"_blank’)"> <div class="service-icon">
<p><p><i class="fa fa-internet-explorer"></i></div>
<div class="service-info"><h3><b>IE tab</b></h3>
<h5>IE tab A X|</h5></div> </div> </div> </div> </div>
</section><!--/#services-->
<section id="team">
<div class="container">
<div class="row">
<div class="heading text-center col-sm-8 col-sm-offset-2 wow  fadelnUp"
data-wow-duration="1200ms" data-wow-delay="300ms">
<h2>WWW TeamZ AW Ct</h2> </div> </div>
<div class="team-members">
<div class="row">
<div class="col-sm-3">
<div class="team-member wow flipInY" data-wow-duration="1000ms"
data-wow-delay="300ms">

<div class="member-image">

<img class="img-responsive" src="images/team/su.png" alt=""></div>
<div class="member-info">
<h3><b>0] &  &</b></h3> <h4>WWW Bl & </h4>
<li><i class="fa fa-envelope"> </i> <span> Email:</span><a

href="mailto:someone@yoursite.com">power10267 @naver.com</a> </li> </div>
<div class="social-icons"> <ul>
<li><a class="facebook" href="#"><i class="fa fa-facebook"></i></a></li>
<li><a class="twitter" href="#"><i class="fa fa-twitter"> </i> </a> </li> </ul> </div>
</div></div>
<div class="col-sm-3">
<div class="team-member wow fliplnY" data-wow-duration="1000ms"
data-wow-delay="500ms">
<div class="member-image">
<img class="img-responsive" src="images/team/so.png" alt="">

</div>
<div class="member-info">
<h3><b>8 A Zl</b></h3><h4>=x H</h4>
<li><i class="fa fa-envelope"> </i> <span> Email:</span><a

href="mailto:someone@yoursite.com">so0s09430@naver.com</a> </li> </div>
<div class="social-icons"> <ul>



<li><a class="facebook" href="#"><i class="fa fa-facebook"></i></a></li>
<li><a class="twitter" href="#"><i class="fa fa-twitter"></i></a> </li> </ul></div></div>
</div><div class="col-sm-3">
<div class="team-member wow flipIny" data-wow-duration="1000ms"
data-wow-delay="800ms">
<div class="member-image">

<img class="img-responsive" src="images/team/lee.png" alt=""></div>
<div class="member-info">
<h3><b>% %= X|</b></h3> <h4>= 2l </h4>
<li><i class="fa fa-envelope"> </i> <span> Email:</span><a

href="mailto:someone@yoursite.com">queenc0222naver.com</a> </li>
<p></p></div><div class="social-icons"> <ul>
<li><a class="facebook" href="#"><i class="fa fa-facebook"></i></a></li>
<li><a class="twitter" href="#"><i class="fa fa-twitter"> </i></a></li> </ul></div></div>
</div><div class="col-sm-3">
<div class="team-member WOow flipInY" data-wow-duration="1000ms"
data-wow-delay="1100ms">
<div class="member-image">

<img class="img-responsive" src="images/team/window.png" alt=""></div>
<div class="member-info">
<h3><b>§ 2| Lt</b></h3><hd>= H</hd>
<li><i class="fa fa-envelope"> </i> <span> Email:</span><a

href="mailto:someone@yoursite.com">snrnsl2@naver.com</a> </li><p></p>
</div><div class="social-icons">
<ul><li><a class="facebook" href="#www.naver.com"><i class="fa fa-facebook"></i></a></li>
<li><a class="twitter" href="#"><i class="fa fa-twitter"></i></a></li> </ul></div>
</div></div> </div><div class="col-sm-3">
<div class="team-member wow fliplny" data-wow-duration="1000ms"
data-wow-delay="1100ms">
<div class="member-image">

<img class="img-responsive" src="images/team/you.png" alt=""> </div>
<div class="member-info">
<h3><b>A § H</b></h3><hd>= H</h4>
<li><i class="fa fa-envelope"> </i> <span> Email:</span><a

href="mailto:someone@yoursite.com">dbwjd7265@naver.com</a> </li><p></p>
</div><div class="social-icons">

<ul><li><a class="facebook" href="#"><i class="fa fa-facebook"> </i></a></li>
<li><a class="twitter" href="#"><i class="fa fa-twitter"></i></a> </li> </ul></div></div>

</div></div></div> </section> <!--/#team-->

<section id="contact">

<div id="google-map" class="wow fadeln" data-latitude="37.714393"
data-longitude="126.889897" data-wow-duration="1000ms" data-wow-delay="400ms"> </div> <div
id="contact-us" class="parallax">

<div class="container"> <div class="row">
<div  class="heading  text-center  col-sm-8  col-sm-offset-2 ~ wow  fadelnUp"

data-wow-duration="1000ms" data-wow-delay="300ms">



<h2>31724 & </h2>
<p>RFTH LML J|EF ROANYO| U2 A O Fa2 H

. ZAMELCh</p> </div></div>
<div class="contact-form wow fadeln" data-wow-duration="1000ms"

o

Jot
rlo

ozt of FA

data-wow-delay="600ms"><div class="row"> <div class="col-sm-6">
<ul class="address"><li><i class="fa fa-map-marker"></i> <span> Address:</span> &7|= 1 FA|
HYT STE 305 MB2 8332 </li>
<li><i class="fa fa-globe"> </i> <span> = S 10| X|:</span> <a
href="http://www.joongbu.ac.kr/">www.joongbu.ac.kr</a> </li> </ul> </div> </div>
</div></div></div> </section><!--/#contact-->
<footer id="footer">
<div class="footer-top wow fadelnUp" data-wow-duration="1000ms" data-wow-delay="300ms">
<div class="container text-center">
<div class="footer-logo">

n

<a href="./indexjsp"><img class="img-responsive" src="images/logo.png" alt=""></a>

</div></div> </div> <div class="footer-bottom">
<div class="container">
<div class="row">
<div class="col-sm-6">
<p>2016d TSRO JEEHDSH EEYHEF 2Z </p> </div> </div> </div> </div>
</footer> </body> </html|>

[loginProc,jsp]

<%@ page language="java" contentType="text/html; charset=UTF-8"
pagekEncoding="UTF-8" import="etc.Encrypt"%>

<jsp:useBean id="dao" class="userinfo.userinfoDAQ"/>

<Jsp:useBean id="pidao" class="pcinfo.pcinfoDAQ"/>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"
"http://www.w3.0rg/TR/html4/loose.dtd" >
<html>
<head>
<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<title>loginProcjsp</title>
</head>
<body>
<%
int rst = O;
Encrypt ec = new Encrypt();
String str = null
String email = (String)request.getAttribute("username");
String pw = ec.sha5T2((String)request.getAttribute("password"));

if(email==str || pw==str){
%>
<script type="text/javascript">
alert("® % 0| B LO|LH| Lol s S FHR."),
location.href="./index jsp"

</script>
<% }
else{
rst = dao.loginCheck(email, pw);
if(rst == 2){

session.setAttribute("email”, email);
int userno = dao.selectUserno(email);
int pcno = pidao.firstPC(userno);

%>



<script type="text/javascript">
location.href="./main/main.jsppcno=<%= pcno %>";
</script>
<% lelse if(rst == 1){ %>
<script ty ez textlgavascnpt >
alert("@ 5 HZHS IHERIGL|CHY);
location. href— /|ndeXJsp
</script>
<% lelse{ %>
<script ty ez text/davascrlpt >

alert("@ & EXISHA| L [E L CE™;
Iocatlon href— Jindexjsp"
</script>
<% }
} %>
</body>
</htm?/>
[detail jsp]

<%@ page language="java" contentType="text/html; charset=UTF-8"
pageEncoding="UTF-8"%>
<!DOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01
"http://www.w3.org/TR/html4/loose.dtd" >
<jsp:useBean id="pidao" class="pcinfo.pcinfoDAQ"/>
<jsp:useBean id="memdao" class="userinfo.userinfoDAO"/>
<html>
<head>
<meta http-equiv="Content-Type" content="text/html; charset=UTF-8">
<meta name="viewport" content="width=device-width, initial-scale=1">
<meta name="description" content="">
<meta name="author" content="'
<title>Insert title here</title>
<script type="text/javascript" src="../js/jquery.js"></script>
<script type="text/javascript” src="../js/bootstrap.min.js"></script>

Transitional//EN"

<script type="text/javascript" src="http://maps.google.com/maps/api/js?sensor=true"> </script>

<script type="text/javascript” src="../js/jquery.inview.min.js"> </script>
<script type="text/javascript” src="../js/wow.min.js"> </script>
<script type="text/javascript” src="../js/mousescroll,js"> </script>
<script type="text/javascript" src="../js/smoothscrolljs"> </script>
<script type="text/javascript" src="../js/jquery.countTo.js"> </script>
<script type="text/javascript" src="../js/lightbox.minjs"></script>
<script type="text/javascript" src="../js/main.js"></script>

<script type="text/javascript" src="../js/alertjs"></script>

<link href="../css/bootstrap.min.css" rel="stylesheet">

<link href="../css/animate.min.css" rel="stylesheet">

<link href="./css/font-awesome.min.css" rel="stylesheet">

<link href="./css/lightbox.css" rel="stylesheet">

<link href="../css/main.css" rel="stylesheet">

<link id="css-preset" href="../css/mintcss/mint.css" rel="stylesheet">
<link href="../css/responsive.css" rel="stylesheet">

<link rel="stylesheet" href="../css/login/style.css">



<link rel="stylesheet" href="../css/mainbody.css">
<link rel="stylesheet" href="../css/login/style.css">
<script src="../js/modernizr js"> </script>
<script src=
"http://ajax.googleapis.com/ajax/libs/jquery/1.11.0/jquery.min.js" > </script>
<script src="../js/addpcjs"></script> <!-- Gem jQuery -->
<link  href="http://fonts.googleapis.com/css?family=0Open+Sans:300,400,600,700'  rel='stylesheet’
type="text/css'>
<link rel="shortcut icon" href="../images/favicon.ico">
<link rel="stylesheet" type="text/css" href="../css/bootstrap-msg.css"> </link>
<script type="text/javascript" src="../js/bootstrap-msg.js"> </script>
<script src="../js/jquery.js"> </script>
<script type="text/javascript" src="../js/timejs"> </script>
<style>
ul{
list-style:none;
}
</style>
<style>
#nav {
line-height:30px;
width:340px;
float:left;
padding:10px;
}
#section {
float:left;
padding:10px;
}
</style>
</head>
<body onload="realTime();">
<%
String email = (String)session.getAttribute("email");
int userno = memdao.selectUserno(email);
String name = memdao.selectName(email);
String pcno = request.getParameter("pcno");
session.setAttribute("pcno”, pcno);
String pcname = pidao.selectname(Integer.parselnt(pcno));
%>
<div class="main-nav">
<div class="container">
<div class="navbar-header">
<button type="button" class="navbar-toggle" data-toggle="collapse"
data-target=".navbar-collapse">
<span class="sr-only">Toggle navigation</span>



<span class="icon-bar"> </span>
<span class="icon-bar"></span>
<span class="icon-bar"></span>
</button>
<a class="navbar-brand"><h1><img src="../images/sclogo.png"></h1></a>
<a class="navbar-brand" href="../main/main.jsp?pcno=<%= pidao.firstPC(userno) %>">
<h2><img class="img-responsive" src="../images/logo.png" alt="logo"> </h2></a>

</div>
<ul class="nav navbar-nav navbar-right">
<li class="dropdown">
<a class="btn dropdown-toggle" data-toggle="dropdown" href="#">
<i class="fa fa-user"></i> <%= name %>
<span class="caret"></span>
</a>
<ul class="dropdown-menu">
<li class="dropdown-menu-title">

<span><%= email %></span>

</li>

<li><a data-target="#pwinput" data-toggle="modal"> <i
class="halflings-icon user"></i> Profile</a></li>

<li><a href="../login/logoutjsp"><i  class="halflings-icon  off"></i>
Logout</a> </li>

</ul>
</li>
</ul>
</div>
</div>

e end header-----------------— - >
<l-- -- left menu start-->

<div id="nav">
<div class="sidebar-holder">
<ul class="nav nav-list">
<l- HH YE s
<br>
<li class="nav-toggle">
<fieldset data-icon="fa"> &nbsp;&nbsp;
<button  type="button" class="btn  btn-info  btn-lg" data-toggle="modal"
data-target="#server-add">A{H#| &5 </button>
<button class="btn  btn-info  btn-Ig"  onclick="window.open('../detail/state jsp’,
'_blank','width=345px, height=600px, left=1200px, top=200px)">2F HEH<span class="badge
bg-primary pull-right" id="count"></span> </button>
<span id="warning"></span>
</fieldset>
</li><br>

<li class="list-subheading">



<jsp:include page="../main/pclistjsp"></jspiinclude> </li> </ul> </div> </div>
<div id="section">
<% if(vo.getMaker_name() == null){ %>
<jsp:include page="../main/pcinfo.jsp"> </jsp:include>
<% } else{ %>
<table>
<tr>
<td rowspan="2"><h1><b><%= pcname %></b></h1></td>
<td>&nbsp;&nbsp; </td> < /tr>
<tr><td></td><td><h4 id="clock"></h4> </td> </tr></table> <br>

<div>

<jspiinclude page="../detail/pcdetail jsp"> </jsp:include>

</div>
<% } %>
</div>
<l-- --pc 38 -->

<div class="modal fade" id="server-add" role="dialog">
<div class="modal-dialog modal-sm">
<div class="modal-content">
<div class="modal-header">
<button type="button" class="close" data-dismiss="modal">&times;</button>
<h4 class="modal-title"> M &5 5}7|</h4>
</div>
<div class="modal-body">
<p><form class="cd-form" id="cd-pc" action="../main/insertPCjsp" method="post">
<p class="fieldset">
<label class="cd-pcname" for="pcname"><h4>PC E</h4></label>
<input class="full-width has-padding has-border" id="pcname" name="pcname"
type="text" placeholder="PC name">
<span class="cd-error-message">[Error]: Y& o FMQ</span></p>
<p class="fieldset">
<label class="cd-ip" for="ip"><h4>IP Address</h4></label>
<input class="full-width has-padding has-border" id="ip" name="ip" type="text"
placeholder="ex) 123.456.789.0">
<span class="cd-error-message">[Error]: & o FM2</span></p>
<p class="fieldset">
<label class="cd-mac" for="mac"><h4>MAC Address</h4></label>
<input class="full-width  has-padding has-border" id="mac" name="mac"
type="text" placeholder="ex) A1:B2:C3:D4:E5:F6">
<span class="cd-error-message">[Error]: Y& 8 FM </span></p>
<p class="fieldset"> <input class="full-width" type="submit" value="&S5}7|">
</p></form> </div> </div> </div> </div>
<div class="modal fade" id="pwinput" role="dialog">
<div class="modal-dialog modal-sm">
<div class="modal-content">
<div class="modal-header">



<button type="button" class="close" data-dismiss="modal">&times;</button>

<h4 class="modal-title"> <i class="material-icons">report</i>H|Z2Hz UGN 2 </h4>

</div>
<div class="modal-body">

<p><form class="cd-form" id="cd-pc" action="../mypage/checkPW.jsp" method="post">

<p class="fieldset">
<label>  AM&At H|ZH D </label>
<input  class="full-width  has-padding  has-border"
type="password" placeholder="password">

<span class="cd-error-message">[Error]: Y= & FTM</span></p>

<p class="fieldset">
<input class="full-width" type="submit" value="Mypage">
</p></form> </div> </div> </div> </div>
</body>
</html>

[pcinfo.jsp]

<%@ page language="java" contentType="text/html; charset=EUC-KR"
pageEncoding="EUC-KR"%>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01

"http://www.w3.org/TR/html4/loose.dtd" >

<jsp:useBean id="dao" class="pcdetail.pcdetaillDAQ" />

<jsp:useBean id="pidao" class="pcinfo.pcinfoDAO" />

<jsp:useBean id="vo" class="pcdetail.pcdetaillvVO" />

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">

<title>Insert title here</title>

<meta name="viewport" content="width=device-width, initial-scale=1">

id="pw" name="pw"

Transitional//EN"

<link rel="stylesheet" href="http://maxcdn.bootstrapcdn.com/bootstrap/3.3.6/css/bootstrap.min.css" >

<script  src=
"https://ajax.googleapis.com/ajax/libs/jquery/1.12.0/jquery.min.js"> </script>
<script  src=
"http://maxcdn.bootstrapcdn.com/bootstrap/3.3.6/js/bootstrap.min.js"> </script>
<link rel="stylesheet" href="../css/mainpage.css">
</head>
<%

int pcno = Integer.parselnt((String) session.getAttribute("pcno"));

vo = dao.setinfo(pcno);

String pcname = pidao.selectname(pcno);

inti=0;
%>
<body>

<div class="container">

<%



if (pcno == 0) {
%>
<div id="step1">
<div class="col-sm-4 wow fadelnDown" data-wow-duration="1000ms"
data-wow-delay="300ms">
<div class="download-info">
<hs><b>STEP1 : MHSZ</b></hs>
<p><h4>1. MHSE HES SEHHNFTM.</hd></p>
<div class="service"></div> </div>
<div class="download-info">
<p><h4>2. BEICHA MOl P9t MACTAS 7|Y8t0l MHE SE&|FAIR.</h4></p> <br>
<div class="server"> </div> </div> </div>
<div class="col-sm-4 wow fadelnDown" data-wow-duration="2000ms"
data-wow-delay="350ms">
<div class="download-info">
<hs><b>STEP2 : MH|A HX|</b></hs>
<p><h4>3. Of2fe| HX|oYS ZZ|CHAME O 2HOIFEM 2. .</hd><p>
</div><br><br>
<table class="text-center our-step">
<tr><td>
<div  class="col-sm-4 wow fadelnDown" data-wow-duration="4000ms"
data-wow-delay="500ms" onclick="location="../down/downZIP jsp"'>
<div class="download-icon" id="left"><p></p><i class="fa fa-desktop"></i>
<div class="download-info">
<h4>SRM.zip</h4>
</div> </div> </div> < /td> <td>
<div  class="col-sm-4 wow fadelnDown" data-wow-duration="4000ms"

"

d a t a - w o w - d e | a y = 5 5 0 m s "
onclick="window.open('https://chrome.google.com/webstore/detail/ie-tab/hehijbfgiekmjfkfjpbkbammijb
denadd?hl=ko’, '_blank’)">
<div class="download-icon" id="right"><p></p><i class="fa fa-desktop"> </i>
<div class="download-info">
<h4>IE&nbsp;tab</h4> </div> </div> </div> </td> < /tr>
</table>
<br><br><br><br><br>
<div class="download-info">
<p><h4>4. BX|otY & SRM.exe?} remote.exe= CEZtO|E HIZ Of2jof EO{FM L.</h4> <br>
<div class="exe"> </div></p></div><br><br>
<div class="download-info">
<p><h4>5. SRMInstallerexe® HYAIZ MHAE HXSHFMR.</hd><br>
<div class="install"> </div></p></div> </div> </div>
<%
} else {
if(vo.getMaker_name() == null){
%>

<div id="step1">



<div class="col-sm-4 wow fadelnDown" data-wow-duration="2000ms"
data-wow-delay="350ms">
<div class="download-info">
<hs><b>STEP2 : AMH|A HX|</b></hs>

<br>
<p><h4><br>1. OF2f2| AX|THUS Ta|CHAAH{O WOIFEM Q.</hd><p>
</div><br>

<table class="text-center our-step">
<tr>
<td>
<div class="col-sm-4 wow fadelnDown" data-wow-duration="4000ms"
data-wow-delay="500ms" onclick="location="../down/downZIP.jsp"">
<div class="download-icon"><p></p><i class="fa fa-desktop"></i>
<div class="download-info">
<h4>SRM.zip</h4> </div> </div> </div> </td><td>
<div class="col-sm-4 wow fadelnDown" data-wow-duration="4000ms"
d a t a - w o w - d e | a vy = " 5 5 0 m s
onclick="window.open('https://chrome.google.com/webstore/detail/ie-tab/hehijbfgiekmjfkfjpbkbammijb
denadd?hl=ko’, '_blank’)">
<div class="download-icon"><p></p><i class="fa fa-desktop"></i>
<div class="download-info">
<h4>|E&nbsp;tab</h4>
</div> </div> </div> </td> < /tr> < /table> <br> <br> <br>
<div class="download-info">
<p><h4>2. MX|IL}Y & SRM.exe?t remote.exet= CE2}0|E HZ OF2f0f @0
FM8.</h4><br><div class="exe"> </p> </div><br><br>
<div class="download-info">
<p><h4>3. SRMInstallerexe® HHAIH MHAE HXSHFML.</hd4><br>
<div class="install"></div></p> </div></div></div>
<%
} else{
%>
<h1><%=pcname%></h1>
<br>
<table class="table table-striped">
<thead>
<tr>
<th>&&/F</th>
<th>LU& </th>
</tr>
</thead>
<tbody>
<tr>
<td><b>H EAt</b></td>
<td><%=vo.getMaker_name()%> </td>
</tr>



<tr>
<td><b>2 & H</b></td>
<td> <%=vo.getModel()%> </td>
</tr>
<tr>
<td><b>2FH|X| </b> </td>
<td><%=vo.getOs_name()%> </td>
</tr>
<tr>
<td><b>BIOS</b></td>
<td><%=vo.getBios()%> </td>
</tr>
<tr>
<td><b>2 G X HH™</b></td>
<td><%=vo.getOs_ver()%> </td>
</tr>
<tr>
<td><b>Processor</b> </td>
<td><%=vo.getProcessor()%> </td>
</tr>
<tr>
<td><b>MH ID</b></td>
<td><%=vo.getld()%> </td>
</tr>
<tr>
<td><b>ClA3A ZF</b></td>
<td><%=vo.getSize()%> GB</td>
</tr>
<tr>
<td><b>0 22| </b></td>
<td><%=vo.getMem_tot()%> GB</td>
</tr>
<tr>
<td><b>7t& M 22| </b></td>
<td><%=vo.getMem_tot_vert()%> GB</td>
</tr>
<tr>
<td><b>MX|</b></td>
<td><%=vo.getInstall_date()%> </td>
</tr>
</tbody>
</table>
<% 1 %>
</div>
</body>
</html>



[pclist.jsp]

<%@page import="javax.swing.text. Document"%>

<%@ page language="java" contentType="text/html; charset=UTF-8"
pageEncoding="UTF-8"%>

<%response.setCharacterEncoding("UTF-8");%>

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01 Transitional//EN"

"http://www.w3.org/TR/html4/loose.dtd" >
<jsp:useBean id="pidao" class="pcinfo.pcinfoDAO" />
<jsp:useBean id="memdao" class="userinfo.userinfoDAO" />
<jsp:useBean id="vo" class="pcinfo.pcinfovO" />
<html>
<head>
<meta name="viewport" content="width=device-width, initial-scale=1">
<link rel="stylesheet" href=
"http://maxcdn.bootstrapcdn.com/bootstrap/3.3.6/css/bootstrap.min.css" >
<script src=
"https://ajax.googleapis.com/ajax/libs/jquery/1.12.2/jquery.min.js"> </script>
<script src=
"http://maxcdn.bootstrapcdn.com/bootstrap/3.3.6/js/bootstrap.min.js"> </script>
<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<title>Insert title here</title>
<script type="text/javascript" src="./js/jqueryjs"></script>
<script type="text/javascript” src="../js/bootstrap.min.js"> </script>

<script type="text/javascript" src="http://maps.google.com/maps/api/js?sensor=true"></script>

<script type="text/javascript" src="../js/jquery.inview.min,js"> </script>
<script type="text/javascript" src="../js/wow.minjs"> </script>
<script type="text/javascript" src="../js/mousescroll,js"> </script>
<script type="text/javascript" src="../js/smoothscroll,js"></script>
<script type="text/javascript" src="../js/jquery.countTo.js"> </script>
<script type="text/javascript" src="../js/main.js"></script>
<link rel="stylesheet" href=

"https://fonts.googleapis.com/icon?family=Material+lcons">
<link href="../css/bootstrap.min.css" rel="stylesheet">
<link rel="stylesheet" type="text/css" href="../css/list.css">

<script src="../js/listjs"></script>

<link href="../css/font-awesome.min.css" rel="stylesheet">

<link href="../css/chart.css" rel="stylesheet">

<link href="http://fonts.googleapis.com/css?family=0Open+Sans:300,400,600,700' rel="stylesheet’

type="text/css'>

<link rel="shortcut icon" href="../images/favicon.ico">

<script src="jquery.js"></script>

<script type="text/javascript" src="http://code jquery.com/jquery-1.8.2.min.js"> </script>
<script type="text/javascript">
var flag=0;



var cnt=0;
function list_update(ajaxdata){
var data = ajaxdata;
var i = 0;
obj = JSON.parse(data);
for(i=0, cnt=0; i<objlist_data.length; i++){
if(obj.list_datal[i].color==3){
flag=1;
cnt++;
document.getElementByld('warning’).innerHTML = "<img src=W"../images/err_on.pngW" />";
document.getElementByld('color'+i).innerHTML = "<img width=30 height=30
src=W"../images/color3.png#"/> ";

if(i==obj list_data.length-1) { flag=0; }

1
else if(obj.list_datali].color==2){
if(flag==0){
document.getElementByld('warning’).innerHTML = "<img src=W"../images/err_off.png®¥" />";}
document.getElementByld('color'+i).innerHTML = "<img width=30 height=30

src=W"../images/color2.png¥" /> ";
if(i==obj.list_data.length-1) { flag=0; }

}else{

if(flag==0){

document.getElementByld('warning’).innerHTML = "<img src=W"../images/err_off.png#"
/>"}

document.getElementByld('color'+i).innerHTML = "<img width=30 height=30

src=¥"../images/color1.png#" /> ";

1

if(i==obj list_data.length-1) { flag=0; }

document.getElementByld('count’).innerHTML = cnt;

function ajax(){
$.ajax({
url:'../detail/list_data,jsp',
async : false ,
success: function(res) {
list_update(res);

b
}
setinterval(function() {ajax(); }, 1000);
</script>
</head>

<%



String email = (String)session.getAttribute("email");
int userno = memdao.selectUserno(email);
String pcname[] = pidao.selectPC(userno);
String ip[] = pidao.selectIP(userno);
String mac[] = pidao.selectMAC(userno);
int firstpcno = Integer.parselnt((String)session.getAttribute("pcno™));
int pcno[] = new int[pcname.length];
int color[] = new int[pcname.length];
inti =0
for(i=0; i<pcname.length ; i++){
pcnoli] = pidao.selectpcno(macli]);
color[i] = pidao.selectColor(pcnoli]);
1
String msg = null;
%>
<body onload="ajax();">
<% if(firstpcno == 0){ %>
<div class="gw-sidebar"><h4 align="center"><b>AHE SENFTM 2.</b></h4></div>
<%
} elsef
%>
<div class="gw-sidebar">
<div id="gw-sidebar" class="gw-sidebar">
<div class="nano-content">
<ul class="gw-nav gw-nav-list">
<% for(i=0; i<pcname.length; i++){%>

<li class="init-arrow-down"> <a href="javascriptivoid(0)"> <%
out.print("<span id=%"color"+i+"W"> </span>");%>&nbsp;&nbsp;
<span class="pcname"><%= pcname[i] %></span> <span class="ip"
style="float: right'><%= ip[i] %></span> <b class="gw-arrow"></b> </a>
<ul class="gw-submenu">
<li> <a href="./main/mainjsp?pcno=<%= pcnoli] %>"><i class="fa fa-desktop"></i>
Information</a> </li>
<li> <a href="./main/detail jsp?pcno=<%= pcnoli] %>"><i class="fa
fa-file-text"></i> Detail</a> </li>
<li> <a href="../remote/remote.jsp?ip=<%= ip[i] %>"><i class="fa
fa-toggle-on"></i> Remote</a> </li></ul></li>
<% 1%> < /ul> </div> </div> </div>
<% }%>
</body>
</html>
[login.js]
function validateEncryptedForm() {
var username = document.getElementByld("signin-email").value;



var rsaPublickeyModulus = document.getElementByld("rsaPublickeyModulus").value;
var rsaPublicKeyExponent = document.getElementByld("rsaPublicKeyExponent”).value;

var password = document.getElementByld("signin-password").value;
if (lusername || !password) {
alert("O| | Y/H|ZRHZ
return false;

njn

LHFM L"),

}
try {

submitEncryptedForm(username,password, rsaPublickeyModulus,

rsaPublicKeyExponent);

}

} catch(err) {
alert(err);

}

return false;

function submitEncryptedForm(username, password, rsaPublicKeyModulus, rsaPpublicKeyExponent) {

var rsa = new RSAKey();

rsa.setPublic(rsaPublickeyModulus, rsaPpublicKeyExponent);

/] AMEXHDS} HUHMSE RSAR Y= 3tsict.

var securedUsername = rsa.encrypt(username);

var securedPassword = rsa.encrypt(password);

// POST 2001 ZF0j| gtE 283t L&(submit) SHCf.

var securedLoginForm = document.getElementByld("securedindex");
securedLoginForm.securedUsername.value = securedUsername;
securedLoginForm.securedPassword.value = securedPassword;
securedLoginForm.submit();

[checkPW jsp]

<%@ page language="java" contentType="text/html; charset=utf-8"

pageEncoding="utf-8" import="etc.Encrypt"%>

<jsp:useBean id="dao" class="userinfo.userinfoDAQ" />

<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01
"http://www.w3.org/TR/html4/loose.dtd" >

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<title>mypage1Check</title>

</head>

<body>

<%

int rst = 0;

Encrypt ec = new Encrypt();

String email = (String)session.getAttribute("email”);

String pw = ec.sha512((String)request.getParameter("pw"));

Transitional//EN"



if(ow.equals(""){%>

<script type="text/javascript">
alert("2F: HIZHSE UHIPFMQ.");
history.go(-1);

</script>

<% }

else{

rst = dao.loginCheck(email, pw);

if(rst == 2){
%>
<script type="text/javascript">
location.href="../mypage/mypage1.jsp";
</script>
<% } else { %>
<script type="text/javascript">
alert("2F: HIZHD 7 ERGLCLY);
history.go(-1);
</script>
<% }
} %>
</body>
</html>
[Iframe,jsp]

<%@ page language="java" contentType="text/html; charset=EUC-KR"
pageEncoding="EUC-KR"%>

<%
String ip = (String)session.getAttribute("ip");
%>
<IDOCTYPE html PUBLIC "-//W3C//DTD HTML 4.01
"http://www.w3.org/TR/html4/loose.dtd" >
<html>
<head>

<script language="Javascript">
// Global variables
var RightFrameDocument = top.frames[1].document;
var RightFrame=top.frames[1];
var ActiveNetworkConnection, ActivityLogArray;
var CurrentRemotePcAddress;
var LIVE_SEGMENTED_REMOTESCREEN_DISPLAY=1;
var tmplmgObj=[], retryTimer, AbortingTransfer;

Transitional//EN"

var SplashDeskEnabled, ACTIVE_HEAD_REQUEST, ACTIVE_HEAD_REQUEST_MESS,baseURL;

var objHTTP, objHTTPmess, remimg1, remimg2, remimg3, remimgCnt;



var DO_LOGGING=1, refreshChecklD, refreshCheckCnt, headTimerlD, headMessTimerlD,
REFRESH_CNT_LIMIT=2, ServerProblemsCnt=0, UploadedRefreshPending=0;

function Start() {

if (RightFrameDocument.getElementByld("SDFOOTER")==null){
setTimeout("Start()",500);
return;

}

f1.txtRemotePcAddress.focus();

f1.txtRemotePcAddress.value = "<%= ip %>";

var tmplmg=new Image();

tmplmg.src="img/disabled.gif";

AbortingTransfer=0; retryTimer=[]; SplashDeskEnabled=1; ACTIVE_HEAD_REQUEST=0;
ACTIVE_HEAD_REQUEST_MESS=0; refreshChecklD=undefined; refreshCheckCnt=0;

CurrentRemotePcAddress=remimg1=remimg2=remimg3=""; remimgCnt=0;

ActivityLogArray = new Array();

ActiveNetworkConnection = 0;

document.onkeydown=ActivelnputControlManager;

f1.txtRemotePcAddress.onblur=ActivelnputControlManager;

f1.txtRemotePcAddress.onfocus=ActivelnputControlManager;

f1.butRemotePcAddress.onclick=ActivelnputControlManager;

f1.butRemotePcAddress.click();}

function ActivelnputControlManager()
{
if (event.type=="keydown') {
with (document.activeElement){
if (I(id=="txtRemotePcAddress' || id=="txtSendText' || id =='txtSnapshotDelay) &&
RightFrame.RemoteScreenimageDisplaylsActive) {
RightFrame.SetFocusToFrame();
RightFrameDocument.onkeydown();
event.returnValue=false; event.cancelBubble=true;

return;

if (eventkeyCode==13) {with (event.srcElement){
if (id=="txtRemotePcAddress') {
with (f1.txtRemotePcAddress){
if (value !'= "")value = value.replace(/~http:/W//i,"");
1
f1.butRemotePcAddress.focus();
f1.butRemotePcAddress.onclick();

}
else if (id=="txtSendText'){



f2.butSendText.focus();
f2.butSendText.onclick();
Jelse if (id=="txtSnapshotDelay")
butRefresh.focus();
1

}return;

switch (event.srcElement.id)
{
case 'txtRemotePcAddress": // This gets called if there is a focus or blur on the box;
case 'txtSendText":
case 'txtSnapshotDelay"
if (event.type=="focus') {
this.select();
1
else{
if (this.id=="txtSnapshotDelay"){
with (txtSnapshotDelay){
if (IsNumeric(value)){
if (value.substring(value.length-1)==")
value=value.substring(0,value.length-1);
if (value<10 &&  (valuelength<2 ||  (valuelength==2
value.substring(0,1)=="")))
value="0"+value;
if (value>99) value=99;}
else value="00"
1
1
else if (this.id=="txtRemotePcAddress"){
with (f1.txtRemotePcAddress) {
if (value '= "") value = value.replace(/Ahttp:#/¥//i,"");

1
} break;
case 'butRemotePcAddress': // Remote PC
if (f1.txtRemotePcAddress.value!="")
RefreshDisplayNetworkConnect(1);
break;

function IsNumeric(strString){
var strValidChars = "0123456789.";
var strChar;
var bInResult = true;

&&



if (strString.length == 0) return false;

for (i = 0; i < strString.length && bInResult == true; i++) {
strChar = strString.charAt(i);
if (strValidChars.indexOf(strChar) == -1)
binResult = false;

}

return bInResult;

function AbortCurrentTransfers() {
if (ACTIVE_HEAD_REQUEST) {
objHTTP.abort(); ACTIVE_HEAD_REQUEST=0;
ActivityLogging("%% Aborting HEAD Request - Full Screen Request %%");
}
if (ActiveNetworkConnection){
ActivityLogging("-- Aborting Connections: "+ActiveNetworkConnection);
AbortingTransfer=1;
RightFrame.MakeRemotelmageDisplayDirty(1);

if (retryTimer[remImg1]!=undefined) clearTimeout(retryTimer[remImg1]);

if (retryTimer[remImg2]!=undefined) clearTimeout(retryTimer[remImg2]);

if (retryTimer[remImg3]!=undefined) clearTimeout(retryTimer[remImg3]);
var tmplmg=RightFrameDocument.images;

if (remimg1!="") { with (tmpIlmg[remimg1]) {
if (readyState!="complete")
outerHTML="",;

",

fremimg1="";

if (remimg2!="") { with (tmpIimg[remimg2]) {
if (readyState!="complete") outerHTML="";
}

remimg2="";

if (remlmg3!="") { with (tmpImg[remimg3]) {
if (readyState!="complete") outerHTML="";
}

remlmg3="";

ActiveNetworkConnection=0;
retryTimer=[];



AbortingTransfer=0;
}

function HeadMessTimedOut() {
if (objHTTPmess.readyState==1){
objHTTPmess.abort(); ACTIVE_HEAD_REQUEST_MESS=0;
ActivityLogging("%% Aborting Message HEAD Request - Timed Out %%");

function HeadTimedOut(){
if (objHTTP.readyState==1){
ActivityLogging("%% Aborting HEAD Request - Timed Out %%");
objHTTP.abort(); ACTIVE_HEAD_REQUEST=0;

function SendRemoteMessageHandler() {
if (0bjHTTPmess.readyState==4){
clearTimeout(headMessTimerID);
ACTIVE_HEAD_REQUEST_MESS=0;
if (objHTTPmess.status == 401)
{Error401(); delete objHTTPmess; return;}
else if (objHTTPmess.status != 200)
{alert("There was a problem sending the message (2). Try again
"+0bjHTTPmess.status); delete objHTTPmess; return;}
delete objHTTPmess;

function RefreshDisplayNetworkConnect(id) {
RefreshDisplayFlag=1;
if (refreshCheckID !'= undefined) {
clearTimeout(refreshCheckID);
refreshChecklD = undefined;
if (id!'=6) refreshCheckCnt=0;

if (ActiveNetworkConnection || ACTIVE_HEAD_REQUEST){
if (id==7 || (RightFrame.NeedFullRemotelmage && id!=8) ||

later:

(CurrentRemotePcAddress.toLowerCase()!=f1.txtRemotePcAddress.value.toLowerCase()))

AbortCurrentTransfers();
else {
if (id!=4){
if (id==8) ResetupJustWatch();



RefreshDisplayFlag=0;
return;

1
tmpImgObj=[;
if (CurrentRemotePcAddress.toLowerCase()!=
f1.txtRemotePcAddress.value.toLowerCase())
{status="Connecting to the Remote PC
RightFrame.MouseKeyActiveNetworkBuffer=[];}
baseURL = "http://"+f1.txtRemotePcAddress.value+":8888?ts="+(new Date().getTime());
var remoteURL = baseURL+"&iq="+10+"&sd="+0.1;

.."; RightFrame.ShowDisplay("noimage");

if (id==7 || RightFrame.NeedFullRemotelmage) {
remoteURL+="&ra=1"; RightFrame.ClearRemoteScreenimageDisplayArray();}
else remoteURL+="&ra=0";
switch (id)
{
case 20: // Mouse click
remoteURL+="&mb="+RightFrame.sendMouse.button+"8&mba="+RightFrame.sendMouse.type+"8&mx1
="+RightFrame.sendMouse.xPos1+"&my1="+RightFrame.sendMouse.yPos1+(((RightFrame.sendMouse.x
Pos2>0 &&
RightFrame.sendMouse.yPos2>0)?("&mx2="+RightFrame.sendMouse.xPos2 +"&my2="+RightFrame.sen
dMouse.yPos2):"")+((RightFrame.sendMouse.key)?("&st1="+RightFrame.sendMouse key +"&st2="):""));
break;
case 30: // Keyboard click
remoteURL+="&keys="+RightFrame.sendKeyBuffer;
break;
case 66: // Buffered Mouse and Keys update
&buff=<mouse=0>,<mb>,<mba>,<mx1>,<my1>,<mx2>,<my2>,<st1>*<mouse=0>,<mb>,<mba>,<
mx1>,<my1>,<mx2>,<my2>,<st1>*<key=1>, <keys>*<key=1>,<keys>*<launch=2>,<|>*<sendtext=3
>, <st1>,<st2>
// &buff=0,1,click,51,362,0,0,32|0,1,click,54,531,0,0,32
remoteURL+="&buff="+RightFrame.MouseKeyActiveNetworkBufferjoin("*");
RightFrame.MouseKeyActiveNetworkBuffer=[];
break;
}
remoteURL = encodeURI(remoteURL);
if (id==4) {// System Summary

nn

open(remoteURL,"sdwin","width=640, height=480, resizable=yes, scrollbars=yes");

status="";

1

else {// Standard request for images
try{

ActivityLogging("$$ Making HEAD Request: "+remoteURL);
ACTIVE_HEAD_REQUEST=1;



ObjHTTP = new XMLHttpRequest();

objHTTP.onreadystatechange=HandleRemotePcRequest;
objHTTP.open("HEAD", remoteURL, true);
objHTTP.send();

if (CurrentRemotePcAddress==f1.txtRemotePcAddress.value)
headTimerID=setTimeout("HeadTimedOut()",30000);

}catch (e)

{

ACTIVE_HEAD_REQUEST=0;

alert("Remote PC  Address: [ "+fl.txtRemotePcAddress.value+" JWnWnThe

connection to the remote address could not be established.#nPlease check your input and try
again¥nWnConfirm Internet Options [Security] settings for the Internet:#n1. Set #"Security Level
For This Zone#" to Medium. Click APPLY#n2. ENABLE: W'"Access Data Sources Across
DomainsW"#n");

ActivityLogging("?HEAD Connect Problem? = "+e.message);
RefreshDisplayFlag=0; status=""; return;

}
RefreshDisplayFlag=0;

function ResetupJustWatch() {
var tmp=1;
if (IsNumeric(txtSnapshotDelay.value))
tmp=(txtSnapshotDelay.value>0)?txtSnapshotDelay.value:1;
else
tmp=1;
JustWatchTimer = setTimeout("RefreshDisplayNetworkConnect(8)",tmp*1000);

function Error401() {
alert("Remote PC Address: [ "+fl.txtRemotePcAddress.value+" Wn¥WnThe connection was
successfully  established but the remote userWnhas not accepted your request to
connect#n#nConnection Closed.");
ActivityLogging("!Connection Rejected by Remote PC: "+f1.txtRemotePcAddress.value);

function CheckBuffer(val){
status="";
if (RightFrame.MouseKeyActiveNetworkBuffer.length)

RefreshDisplayNetworkConnect(66);



function HandleRemotePcRequest(){
if (objHTTP.readyState==4) {// Completed loading

clearTimeout(headTimerlD);
var responseAllHeaders=0bjHTTP.getAllResponseHeaders();
var responseCoords = objHTTP.getResponseHeader("coords");
var responseText=0bjHTTP.responseText;
var netStatus=objHTTP.status;
delete objHTTP;

ACTIVE_HEAD_REQUEST=0;

if(netStatus==401) Error401();
else if(netStatus>500) // Server probs
{if (++ServerProblemsCnt>3)RightFrame.ShowDisplay("noimage");}

if (netStatus!=200 || responseCoords==""){CheckBuffer(); status=""; return;}
var imgData = responseCoords.split("|"), tmp, tmp2;
if (imgData == null || imgData.length==0) {CheckBuffer(); return false;}
if (imgData.length==1 && imgData[0]=="*"){Error401(); CheckBuffer(); return;}
CurrentRemotePcAddress=f1.txtRemotePcAddress.value;
ServerProblemsCnt=0;
if (imgData[0]=="" && imgData[1]=="" && imgData[2]=="")
{CheckBuffer(1); return;}
var rfTmplimg=RightFrameDocument.images;
remlmg1=remlmg2=remimg3="";
for (var i=0; i<imgData.length; i++) {
if (imgData[i] '= ") {
remimgCnt++;
tmp=imgDatali].split(",");
if (tmp[0]=="*")
{tmp[0]=0; tmp[1]=0; RightFrame.ClearRemoteScreenimageDisplayArray();}

tmp2="<img width="+tmp[2]+" height="+tmp[3]+"
class=""+((LIVE_SEGMENTED_REMOTESCREEN_DISPLAY &&
IRightFrame.NeedFullRemotelmage)?"Y":"X")+"' id="r"+(remImgCnt)+"' style="left:" +tmp[0]+"px;

top:"+tmp[1]+"px;"" +((RightFrame.NeedFullRemotelmage)?" FS=1""")+">";

if (RightFrame.NeedFullRemotelmage)
RightFrame.RemoteScreenimageDisplay.insertAdjacentHTML("beforeEnd",tmp2);
else RightFrame.RSID.insertAdjacentHTML("beforeEnd",tmp2);
ActiveNetworkConnection++;

non

if (i==0) remlmg1="r"+(remIimgCnt);

non

else if (i==1) remImg2="r"+(remimgCnt);

else remimg3="r"+(remimgCnt);
with (fTmplmg['r'+remimgCnt]) {

onerror=onabort=onreadystatechange=MonitorActiveNetworkConnections;



src=baseURL+"&img="+(i+1);
}

}

function MonitorActiveNetworkConnections() {
var ItemName, event=RightFrame.event, isFullScreen=0;
if (ActiveNetworkConnection > 0 && !AbortingTransfer)
status="Working ...";

if (this.src=="img/blank.gif")
return;

if (this.id == remimg1)
ItemName="Desktop";

else if (this.id == remimg2)
[temName="Taskbar";

else if (this.id == remimg3)
[temName="Tasktray";

else
[temName="Unknown "+this.id+"]";

if (AbortingTransfer)
{if (ActiveNetworkConnection>0) ActiveNetworkConnection--;}
else {
switch (event.type){
case 'error':
if (event.srcElement.err!=undefined)
event.srcElement.err++;
else
event.srcElement.err=1;
if (event.srcElement.err < 3)

retryTimer[this.id]=setTimeout("RetryRemotelmageDownload(" +this.id+"")",1500);
else {
this.outerHTML="";
if (ActiveNetworkConnection>0) ActiveNetworkConnection--;
1
break;
case 'abort":
this.outerHTML="";
if (ActiveNetworkConnection>0) ActiveNetworkConnection--;
break;
case 'readystatechange":
if (this.readyState=="complete") // Image loaded fine



{if (ActiveNetworkConnection>0) ActiveNetworkConnection--;
isFullScreen=RightFrame.NeedFullRemotelmage; OnimageCompletedNetworkConnect(this);}

break;
default:
alert("Other event: "+event.type);
break;
1
1
if (‘ActiveNetworkConnection && !ACTIVE_HEAD_REQUEST) {
status="";
if (RightFrame.MouseKeyActiveNetworkBuffer.length){
refreshCheckCnt=0; refreshChecklD=undefined;
RefreshDisplayNetworkConnect(66);
1
else{
if (refreshCheckCnt < REFRESH_CNT_LIMIT && lisFullScreen)
{refreshCheckID=setTimeout("if (f1.txtRemotePcAddress.value!=")
RefreshDisplayNetworkConnect(6);",((refreshCheckCnt)?5000:3000)); refreshCheckCnt++;}
else
{refreshCheckCnt=0; refreshChecklD=undefined;}
1
1

function RetryRemotelmageDownload(imgObjld){
var tmp;
try {
with (RightFrame.document.images[imgObjld]) {
retryTimer[imgObjld]=undefined;
tmp=src; src="img/blank.gif"; src=tmp;

1
catch (e) {
ActiveNetworkConnection--;
if (ActiveNetworkConnection==0)
status="";

function ClearActivityLog() {
ActivityLogArray=[];
RightFrame.FloatingWindowReset();

function ActivityLogging(strLog){



if (DO_LOGGING) {
if (ActivityLogArray.length==35)
ActivityLogArray.shift();

ActivityLogArray.push(formatDate("hh:mm:ss")+" | "+ strLog);
if (RightFrame.LogWindow.style.display=="inline")
RightFrame.LogWindowTxtArea.value+="#n"+formatDate("hh:mm:ss")+" | "+ strLog;}
}
function OnlmageCompletedNetworkConnect(imgObj){
if (LIVE_SEGMENTED_REMOTESCREEN_DISPLAY && !(RightFrame.NeedFullRemotelmage &&
imgODbj.FS)){

return;

tmplmgObj.push(imgObj);

if ('ActiveNetworkConnection) {
var tmp;

while (tmplmgObj.length){
tmp = tmplmgObj.pop();

ActivityLogging("@@ Image Complete: "+tmp.src+" (ID: "+tmp.id+" = Size:
"+tmp.fileSize+") # Xpos:"+tmp.style.left+" # Ypos:"+tmp.style.top);
RightFrame.NewRemoteScreenimageDisplay(tmp);

1
function addZero(vNumber){
return ((vNumber < 10) ? "0" : ") + vNumber
1
function formatDate(vFormat){
vDate = new Date();

var vDay = addZero(vDate.getDate());

var vMonth = addZero(vDate.getMonth()+1);

var vYearLong = addZero(vDate.getFullYear());

var vYearShort = addZero(vDate.getFullYear().toString().substring(3,4));

var vYear = (vFormat.indexOf("yyyy")>-1?vYearLong:vYearShort)

var vHour = addZero(vDate.getHours());

var vMinute = addZero(vDate.getMinutes());

var vSecond = addZero(vDate.getSeconds());

var  vDateString = vFormat.replace(/dd/g, vDay).replace(/MM/g,
vMonth).replace(/y{1,4}/g, vYear)

vDateString = vDateString.replace(/hh/g, vHour).replace(/mm/g,

vMinute).replace(/ss/g, vSecond)



delete vDate;
return vDateString

function CompletedDownloadingRefreshDisplay() {
if (ActiveNetworkConnection)

{if (!UploadedRefreshPending){UploadedRefreshPending=1;

setTimeout("CompletedDownloadingRefreshDisplay()",2000);}}
else{setTimeout("butRefresh.click()",2000); = UploadedRefreshPending=0;}
1
</script>
</head>
<body onload="Start()">
<form id="f1" onsubmit="event.returnValue=false">

<input type="text" name="txtRemotePcAddress" value="<%= ip %>" id="txtRemotePcAddress"

size=18>
<input type="submit" value="Connect" id="butRemotePcAddress"> <br>
</form>
<span  onclick="radJustWatch.click()"  onmouseover="this.style.cursor
type="radio" id="radJustWatch"> </span>
</body>
<SPAN id="SDFOOTER"> </SPAN>
</html>

<SCl0|HE =23 AAFACS
[SRM.cpp]

#include <stdio.h>
#include <iostream>
#include <winsock.h>
#include <Windows.h>
#include <fstream>
#include <Tlhelp32.h>
#include <WtsApi32.h>
#include <UserEnv.h>
#include "ServiceUtil.h"
#include "logProcess.h"
#include "systeminfo.h"
#include "parse.h"
#include "ajaxCall.h"
#include "json.h"
#include "pingCheck.h"
#include "temperature.h”
#include "network.h"

= 'pointer"><input



#include "address.h"

#pragma warning(disable:4996)

#pragma warning(disable:4005)

#pragma comment(lib,"WtsApi32.lib")

#pragma comment(lib,"UserEnv.lib")

#define SERVICE_CONTROL_CUSTOM_MESSAGE 0x0085
using namespace std;

#define SERVICE_NAME  TEXT("SRM Monitoring")

SERVICE_STATUS_HANDLE  g_hServiceStatus = NULL; //AME|AZIAZZHAHE

DWORD g_dwServiceState = 0; //A{H| 2B X ALER
HANDLE g_hEventExit = NULL; //MH|AZZO|HESHS

void TestServiceMain(DWORD argc, LPTSTR* argv); //AH|AD| Q&=

void LogPrint(LPTSTR szLog, WORD weEventType);

void U214Handler(DWORD dwOpcode);

void SetU214Status(DWORD dwState, DWORD dwError, DWORD dwExError,
WORD dwAccept = SERVICE_ACCEPT_STOP | SERVICE_ACCEPT_PAUSE_CONTINUE);
BOOL LaunchApplintoDifferentSession();

void main(){
SERVICE_TABLE_ENTRY DispatchTable[] =
{
{"SRM Monitoring”, (LPSERVICE_MAIN_FUNCTION)TestServiceMain},
{NULL, NULL}

if(::StartServiceCtrIDispatcher(DispatchTable)) return;
1
void TestServiceMain(DWORD argc, LPTSTR* argv){
DWORD dwRes = 0;
g_hServiceStatus = RegisterServiceCtrIHandler(SERVICE_NAME,
(LPHANDLER_FUNCTION)U214Handler); //MH|AMER{E+=EF
if(g_hServiceStatus == NULL){
LogPrint("MH|AHE EH S S E X4 & LI CHEVENTLOG_ERROR_TYPE);
return;
}
SetU214Status(SERVICE_START_PENDING, NO_ERROR, 0);
g_hEventExit = :CreateEvent(NULL, TRUE, FALSE, "AMH|AZZO|HE);
SetU214Status(SERVICE_RUNNING, NO_ERROR, 0);

while(TRUE){
if(:WaitForSingleObject(g_hEventExit, 10) == WAIT_OBJECT_0){
break //MHIASZE



if(g_hEventExit != NULL) :CloseHandle(g_hEventExit);
LogPrint("& & &| & LICHEVENTLOG_INFORMATION_TYPE);
SetU214Status(SERVICE_STOPPED, NO_ERROR, 0);

}

void SetU214Status(DWORD dwState, DWORD dwError, DWORD dwExError, DWORD dwAccept){
SERVICE_STATUS ss;
ss.dwServiceType = SERVICE_WIN32; //TH A
ss.dwCurrentState = dwState;
ss.dwControlsAccepted = dwAccept;
ss.dwWin32ExitCode = dweError;
ss.dwServiceSpecificExitCode = 0;
ss.dwCheckPoint = 0;
ss.dwWaitHint = 0;

if(dwError == ERROR_SERVICE_SPECIFIC_ERROR){
ss.dwServiceSpecificExitCode = dwExError;

}

g_dwServiceState = dwState; //%1 X} SE 2 2HZ = N A Of 4 XH & EN

::SetServiceStatus(g_hServiceStatus, &ss);

makeLogDir();

char* out; //wmi BEEEEXIE

char* URL; //ZAHIAE

char* server_ip; //AE{ OO

string client_ip; //22t0L0| |

char* mac;

int port; //ZEHZ

char* url; //MEEI0|E

static int count = 0;

while (dwState == SERVICE_RUNNING){
URL = "/SRMserver/"
server_ip = "10.100.114.245"
client_ip = GetlPAddress();
port = 8585;
url = "srm"
writeToLog(client_ip.c_str());
cJSON* rootObject = cJSON_CreateObject();

/RN 2R HOfS
writeToLog("& Al ZH);
dynamicinfo();
processinfo();
networkInfo();
pingCheck(server_ip);
mac = getMAC(client_ip);
macwrite(mac, client_ip);



ofstream fout;

fout.open("C:Wttdynamicinfo.log”, fstream:out | fstream:app);
fout<<"count="<<count<<endl;

fout.close();

getTemperature();
temper_StrTolnt();

parseDynamic(rootObject);
parseProcess(rootObject);
parseNetwork(rootObject);

if(count==0){ //StHEtEHIHIE
staticInfo();
parseStatic(rootObject);
writeToLog ("1 7);

LaunchApplIntoDifferentSession();

}

out = cJSON_Print(rootObject);
writeToLog(out);

ajaxCall(URL, server_ip, port, out, url);
count = 1;

cJSON_Delete(rootObject);

}
void U214Handler(DWORD dwOpcode){ //AH|A0[HMIEX 2|gt=
if[dwOpcode == g_dwServiceState) return

switch(dwOpcode){

case SERVICE_CONTROL_PAUSE: //2AI™X]|
SetU214Status(SERVICE_PAUSE_PENDING, NO_ERROR, 0, 0);
SetU214Status(SERVICE_PAUSED, NO_ERROR, 0);
LogPrint(" S &% 0 2 Ml L|CHEVENTLOG_INFORMATION_TYPE);
break;

case SERVICE_CONTROL_CONTINUE: //jA|Z}
SetU214Status(SERVICE_CONTINUE_PENDING, NO_ERROR, 0, 0);
SetU214Status(SERVICE_RUNNING, NO_ERROR, 0);
LogPrint(" A B X| 217+ E| A& LICH EVENTLOG_INFORMATION_TYPE);
break;

case SERVICE_CONTROL_STOP: /B =
SetU214Status(SERVICE_STOPPED, NO_ERROR, 0, 0);
:SetEvent(g_hEventExit);
break;



case SERVICE_CONTROL_INTERROGATE:
SetU214Status(SERVICE_STOPPED, NO_ERROR, 0);
break;

default:
SetU214Status(g_dwServiceState, NO_ERROR, 0);
break;

void LogPrint(LPTSTR szLog, WORD wEventType){ //O|HEZ 1 &2t
TCHAR*  IpszStrings[2];
TCHAR  szMsg[256];
HANDLE  hEventSource;
DWORD  dwError = ::GetlastError(); //0l2{7t2d&Zd2elH
hEventSource = :RegisterEventSource(NULL, SERVICE_NAME);
if(wEventType == EVENTLOG_ERROR_TYPE)
wsprintf(szMsg, TEXT("%s [ERROR CODE : %d]"), SERVICE_NAME, dweError);

else

wsprintf(szMsg, TEXT("%s"), SERVICE_NAME);
IpszStrings[0] = szMsg;
IpszStrings[1] = szlog;

if(hEventSource = NULL){
:ReportEvent(hEventSource, wEventType, 0, 0, NULL, 2, 0, (const
char**)(LPTSTR*)lpszStrings, NULL); //O|HIE 2 A7IA|ARI0IS S
:DeregisterEventSource(hEventSource);

BOOL LaunchApplintoDifferentSession() {
PROCESS_INFORMATION pi;
STARTUPINFO si;
BOOL bResult = FALSE;
DWORD dwsSessionld,winlogonPid;
HANDLE hUserToken,hUserTokenDup,hPToken,hProcess;
DWORD dwCreationFlags;
dwSessionld = WTSGetActiveConsoleSessionld();
PROCESSENTRY32 procEntry;
HANDLE hSnap = CreateToolhelp32Snapshot(TH32CS_SNAPPROCESS, 0);
if (hSnap == INVALID_HANDLE_VALUE){
return 1 ;
}
procEntry.dwSize = sizeof(PROCESSENTRY32);
if (IProcess32First(hSnap, &procEntry)){
return 1 ;

do{



if (_stricmp(procEntry.szExeFile, "winlogon.exe") == 0){
DWORD winlogonSessid = 0;
if  (ProcessldToSessionld(procEntry.th32ProcessID,  &winlogonSessld) &&  winlogonSessild ==
dwsSessionld){
winlogonPid = procEntry.th32ProcessID;
break

}
} while (Process32Next(hSnap, &procEntry));

WTSQueryUserToken(dwSessionld,&hUserToken);
dwCreationFlags = NORMAL_PRIORITY_CLASS|CREATE_NEW_CONSOLE;
ZeroMemory(&si, sizeof(STARTUPINFO));
si.cb= sizeof(STARTUPINFO);
si.lpDesktop = "winstaO¥Wdefault"
ZeroMemory(&pi, sizeof(pi));
TOKEN_PRIVILEGES tp;
LUID luid;

hProcess = OpenProcess(MAXIMUM_ALLOWED,FALSE,winlogonPid);
if(1::OpenProcessToken(hProcess, TOKEN_ADJUST_PRIVILEGES|TOKEN_QUERY
|[TOKEN_DUPLICATE|TOKEN_ASSIGN_PRIMARY|TOKEN_ADJUST_SESSIONID

|[TOKEN_READ|TOKEN_WRITE,&hPToken)){
int abcd = GetlLastError();
printf("Process token open Error: %utn”,GetlLastError());

if (LookupPrivilegeValue(NULL,SE_DEBUG_NAME,&Iuid)){
printf("Lookup Privilege value Error: %u¥n",GetLastError());
1
tp.PrivilegeCount =1;
tp.Privileges[0].Luid =luid;
tp.Privileges[0].Attributes =SE_PRIVILEGE_ENABLED;

DuplicateTokenEx(hPToken, MAXIMUM_ALLOWED,NULL,Securityldentification, TokenPrimary,&hUserToke
nDup);

int dup = GetlastError();

//Adjust Token privilege
SetTokenInformation(hUserTokenDup,TokenSessionld,(void*)dwSessionld,sizeof(DWORD));

i f
('AdjustTokenPrivileges(hUserTokenDup,FALSE,&tp,sizeof(TOKEN_PRIVILEGES),(PTOKEN_PRIVILEGES)NUL
L,NULL))



int abc =GetlastError();
printf("Adjust Privilege value Error: %u¥n",GetLastError());

if (GetlastError()== ERROR_NOT_ALL_ASSIGNED)
{

printf("Token does not have the provilege#n");

LPVOID pEnv =NULL;

if(CreateEnvironmentBlock(&pEnv,hUserTokenDup, TRUE))

{
dwCreationFlags|=CREATE_UNICODE_ENVIRONMENT;
1
else
pEnv=NULL;
bResult = CreateProcessAsUser(
hUserTokenDup, // client's access token
TEXT("C:#WWremote.exe"), // file to execute
NULL, // command line
NULL, // pointer to process SECURITY_ATTRIBUTES
NULL, // pointer to thread SECURITY_ATTRIBUTES
FALSE, // handles are not inheritable
dwCreationFlags, // creation flags
pEnv, // pointer to new environment block
NULL, // name of current directory
&si, // pointer to STARTUPINFO structure
&pi // receives information about new process

)

int iResultOfCreateProcessAsUser = GetlLastError();
CloseHandle(hProcess);
CloseHandle(hUserToken);
CloseHandle(hUserTokenDup);
CloseHandle(hPToken);
return O;

[systemInfo.cpp]

#include "stdafx.h"

#include <iostream>

#include <fstream>

#include <cstdlib> // system()



#include "logProcess.h"
#pragma warning(disable:4996)
#pragma warning(disable:4005)
using namespace std;

int staticinfo() /2™ %t

{

int state = O;
char errMsg[256];
try {

FILE* log = fopen("C:W#twmic.cmd", "w");

if log == NULL) {

throw "cannot make C:#Wwmic.cmd error !I"

}

fprintf(log, "%sWn", "@echo off");

fprintf(log, "%s¥n", "wmic logicaldisk where ¥"DevicelD="C:'W" get size /formatilist > c:##tmp.log");
fprintflog, "%sWn", "wmic computersystem get totalphysicalmemory, Manufacturer, Model
/formatilist >> c:W#tmp.log");

fprintf(log, "%sWn", "wmic BIOS get SMBIOSBIOSVersion /formatlist >> c:#Wtmp.log");

fprintflog, "%sWn", "wmic OS get totalvirtualmemorySize, InstallDate, Caption, Version,
SerialNumber, LastBootUpTime /formatlist >> c:WWtmp.log");

fprintflog, "%sWn", "wmic CPU get Description, DevicelD, MaxClockSpeed, Name, Status,
SystemName /formatilist >> c:WWtmp.log");

fprintf(log, "%sWn", "type cWWtmp.log > C:W#staticInfo.log");

fprintf(log, "%sWn", "del cW#tmp.log");

fclose(log);

system ("C:WHtwmic.cmd");

remove("C:#Wwmic.cmd");

}

catch (exception ex) {

writeToLog((const char*) errMsg);

}

return O;

[parse.cpp]

#include "stdafx.h"
#include "json.h"
#include <iostream>
#include <fstream>
#include "parse.h"
#include "logProcess.h"

#pragma warning(disable:4996)
#pragma warning(disable:4005)



using namespace std;
int parseStatic(cJSON *rootObject) //2HH 2t
{

char* name = NULL;

char* value = NULL;

int state = Q;

char msg[256];

try {
char line[1024];
cJSON *infoBasket, *itemObject;
const int KEY_SIZE = 13;

char *strs[][2] = {
{"Caption=", "0s_name"},
{"Version=", "os_ver"},
{"SerialNumber=", "id"},
{"InstallDate=", "install_date"},
{"LastBootUpTime=", "boot_time"},
{"Manufacturer=", "maker_name"},
{"Model=", "model"},
{"Description=", "processor"},
{"SMBIOSBIOSVersion=",  "bios"},
{"TotalPhysicalMemory=", "mem_tot"},
{"TotalVirtualMemorySize=",  "mem_tot_vert"},
{"Size=", "Size"},
{"x", "X"}

by
char *filename = "cW#ttstaticinfo.log”
FILE *fp=fopen(filename,"r");
if( fp ) { throw "File Not Found!" }
cJSON_AddltemToObject(rootObject, "infoBasket", infoBasket = cJSON_CreateArray());
name = (char*)malloc(50); memset(name,0x00, 50);
value= (char*)malloc(100); memset(value,0x00, 100);
int lineNum = 0;
while (fgets(line, 1024, fp) !'= NULL X
lineNum++;
bool found = false;
for (int ndx = 0; ndx < KEY_SIZE; ndx++) {
if (strlen(line) == 0 ) continue;
if (strchr(line, '=") < 0) continue;
char* strO = strs[ndx][0];
char* str1 = strs[ndx][1];
if(strncmp(line, str0, strlen(str0)) == 0){
char* p = strchr(line, '=") + 1;
int len = strlen(p);
if*(p + len - 1) == "#¥n') len--;



if*(p + len - 1) == "¥r') len--;
memset(name, 0x00, 50);
strcpy(name, str1);
memset(value, 0x00, 100);
strncpy(value, p, len);

found = true;

break;

}

if(ifound) continue;

cJSON_AddltemToArray(infoBasket, itemObject = cJSON_CreateObject());

cJSON_AddStringToObject(itemObject, name, value); }
fclose(fp);

} catch(exception ex) {

}

writeToLog((const char*) msg);

free(name);

free(value);

return O;

[ajaxCall.cpp]

#include
#include
#include
#include
#include

"stdafx.h"
<stdlib.h>

<winsock.

h>//dont forget to add wsock32.lib to linker dependencies

<iostream>

"logProcess.h"

#pragma warning(disable:4996)

#pragma warning(disable:4005)

using namespace std;
#define BUFFERSIZE 4096

char* ajaxCall(char* URL, char* ipaddress, int port, char* str, char* url){

int state

:O,

char msg[256];
char* requestStr = NULL;
char* resultstr = NULL;

int sock;

try{

string response;

string str_;

int resp_leng;

char* tmp = (char*)malloc(10);
itoa(strlen(str), tmp, 10);



char* strPort = (char*)malloc(10);
itoa(port, strPort, 10);
char buffer[BUFFERSIZE];
struct sockaddr_in serveraddr;
WSADATA wsaData;
int len = strlen(str) + 1000;
requestStr = (char*)malloc(len);
memset(requestStr, 0x00, len);
strcpy(requestStr, "POST ");
strcat(requestStr, URL);
strcat(requestStr, url);
strcat(requestStr, " ");
strcat(requestStr, "HTTP/1.1#r¥n");
strcat(requestStr, "Host: ");
strcat(requestStr, ipaddress);
strcat(requestStr, ":");
strcat(requestStr, strPort);
strcat(requestStr, "#rin");
strcat(requestStr, "User-Agent:Mozilla/4.0 (compatible; MSIE 7.0; Windows NT 6.2;
WOWG64; Trident/6.0; .NET4.0E; .NET4.0C; .NET CLR 3.5.30729; .NET CLR 2.0.50727; .NET CLR
3.0.30729; CMNTDFJS; .NET CLR 1.1.4322; InfoPath.2)");
strcat(requestStr, "#rin");
strcat(requestStr, "Content-Type: application/json;charset=euc-kr");
strcat(requestStr, "Wr#n");
strcat(requestStr, "content-length: ");
strcat(requestStr, tmp);
strcat(requestStr, "Wr#n");
strcat(requestStr, "Accept:
text/html,application/xhtml+xml,application/xml;q=0.9,*/*,q=0.8");
strcat(requestStr, "#Wrn");
strcat(requestStr, "Accept-Language: ko-KR ko;q=0.8,en-US;q=0.6,en;q=0.4");
strcat(requestStr, "Wr#n");
strcat(requestStr, "Accept-Encoding: gzip, deflateh");
strcat(requestStr, "#Wrin");
strcat(requestStr, "Accept-Charset: 1ISO-8859-1,utf-8;,q=0.7,*,=0.7");
strcat(requestStr, "#rin");

(
(
(
(
strcat(requestStr, "Keep-Alive: 115");
strcat(requestStr, "#rin");

strcat(requestStr, "Connection: keep-aliveWritn");
strcat(requestStr, "#Wr#n");

// 2=0|Ct

strcat(requestStr, str);

free(tmp);

free(strPort);

//winsock x7|3}

if(WSAStartup(MAKEWORD(2, 2), &wsaData) != 0){



throw "WSAStartup() failed"
}
J/RALNET
if((sock = socket(PF_INET, SOCK_STREAM, IPPROTO_TCP)) < 0){
throw "socket() failed"
}
//HE
memset(&serveraddr, 0, sizeof(serveraddr));
serveraddr.sin_family = AF_INET;
serveraddr.sin_addr.s_addr = inet_addr(ipaddress);
serveraddr.sin_port = htons((unsigned short)port);

if(connect(sock, (struct sockaddr *)&serveraddr, sizeof(serveraddr)) < 0){
closesocket(sock);
throw "connect() failed"
}
//2EELT
if(send(sock, requestStr, strlen(requestStr), 0) != strlen(requestStr)){
closesocket(sock);
throw "send() sent a different number of bytes than expected"
}
shutdown(sock, 1);
//SEE|
response = ""
resp_leng = 0;
while((resp_leng = recv(sock, (char*)&buffer, BUFFERSIZE, 0)) > 0){
if(resp_leng == SOCKET_ERROR){
closesocket(sock);
throw "recv() error"
1
if(resp_leng > 0){
response += string(buffer).substr(0, resp_leng);

}
int LEN = response.length();
resultstr = (char*)malloc(LEN+1);
memset(resultstr, 0x00, LEN+1);
strcpy(resultstr, response.c_str());
closesocket(sock);
WSACleanup();
response.erase();

}

catch (exception ex) {
if (state >=3 && state < 6) {

try { closesocket(sock); } catch (exception exc) {writeToLog(exc.what());}

}



sprintf(msg, "AjaxCall step %d", state);
writeToLog((const char*) msg);

writeToLog(ex.what());
}
free(requestStr);
return resultstr;
1
[address.cpp]

#include "stdafx.h"
#include <winsock2.h>
#include <string>
#include <stdio.h>
#include <Windows.h>
#include <Iphlpapi.h>
#include <Assert.h>
#include <fstream>

#pragma comment(lib, "iphlpapi.lib")
#pragma comment(lib, "ws2_32.lib")
#define String std:string;

using namespace std;

#ifdef String

#undef String

#endif

string GetlPAddress(){
WSADATA wsaData;
WSAStartup(MAKEWORD(2, 2), &wsaData);

PHOSTENT hostinfo;

char hostname[50];

char ipaddr[50];

memset(hostname, 0, sizeof(hostname));

memeset(ipaddr, 0, sizeof(ipaddr));

int nError = gethostname(hostname, sizeof(hostname));

if (nError == 0){

hostinfo = gethostbyname(hostname);// ip address L2t

strcpy(ipaddr, Inet_ntoa(*(struct in_addr*)hostinfo->h_addr_list[0]));

}

WSACleanup();

return ipaddr;

char* getMAC(string ip){



PIP_ADAPTER_INFO Adapterinfo;
DWORD dwBufLen = sizeof(Adapterinfo);
char *mac_addr = (char*)malloc(17);
Adapterinfo = (IP_ADAPTER_INFO *) malloc(sizeof(IP_ADAPTER_INFO));
if (Adapterinfo == NULL) {
printf("Error allocating memory needed to call GetAdaptersinfottn");
return NULL;
}
if (GetAdaptersinfo(Adapterinfo, &dwBufLen) == ERROR_BUFFER_OVERFLOW) {
free(Adapterinfo);
Adapterinfo = (IP_ADAPTER_INFO *) malloc(dwBufLen);
if (Adapterinfo == NULL) {
printf("Error allocating memory needed to call GetAdaptersinfo#n");
return NULL;

}
if (GetAdaptersinfo(Adapterinfo, &dwBufLen) == NO_ERROR) {

PIP_ADAPTER_INFO pAdapterinfo = Adapterinfo;// Contains pointer to current
adapter info
do {
if(stremp(ip.c_str(), pAdapterinfo->IpAddressList.IpAddress.String) == 0){
sprintf(mac_addr, "%02X:%02X:%02X:%02X:%02X:%02X",
pAdapterinfo->Address[0], pAdapterinfo->Address[1],
pAdapterinfo->Address[2], pAdapterinfo->Address[3],
pAdapterinfo->Address[4], pAdapterinfo->Address|[5]);
free(Adapterinfo);
return mac_addr;
1
printf("Wn");
pAdapterinfo = pAdapterinfo->Next;
}while(pAdapterinfo);
}
free(Adapterinfo);
return NULL;
}
void macwrite(char* mac, string ip){
ofstream fout;
fout.open("C:##tdynamicinfo.log”, fstream:out | fstream:app);
fout<<"macAddr="<<mac<<end|;
fout<<"ipAddr="<<ip.c_str()< <endl;
fout.close();

[temperature.cpp]

#define _'WIN32_DCOM



#include <iostream>
#include <fstream>
#include <string>
#include <comdef.h>
#include <Wbemidl.h>
#include "logProcess.h"

using namespace std;
#pragma comment(lib, "wbemuuid.lib")

void getTemperature(){
HRESULT hres;
char* msg = "

hres = ColnitializeEx(0, COINIT_MULTITHREADED);

hres = ColnitializeSecurity(

NULL,

-1, // COM authentication
NULL, // Authentication services
NULL, // Reserved

RPC_C_AUTHN_LEVEL_DEFAULT, // Default authentication
RPC_C_IMP_LEVEL_IMPERSONATE, // Default Impersonation

NULL, // Authentication info
EOAC_NONE, // Additional capabilities
NULL // Reserved

);
IWbemLocator *pLoc = NULL;

hres = CoCreatelnstance(
CLSID_WbemlLocator,
0,
CLSCTX_INPROC_SERVER,
[ID_IWbemLocator, (LPVOID *) &pLoc);

IWbemServices *pSvc = NULL;
hres = plLoc->ConnectServer(
_bstr_t(L"ROOTWWwmi"), // Object path of WMI namespace

NULL, // User name. NULL = current user
NULL, // User password. NULL = current
0, // Locale. NULL indicates current
NULL, // Security flags.

0, // Authority (for example, Kerberos)
0, // Context object

&pSvc // pointer to IWbemServices proxy
)

hres = CoSetProxyBlanket(
pSvc, // Indicates the proxy to set



RPC_C_AUTHN_WINNT, // RPC_C_AUTHN_xxx

RPC_C_AUTHZ_NONE, // RPC_C_AUTHZ_xxx
NULL, // Server principal name
RPC_C_AUTHN_LEVEL_CALL, // RPC_C_AUTHN_LEVEL_xxx
RPC_C_IMP_LEVEL_IMPERSONATE, // RPC_C_IMP_LEVEL_xxx
NULL, // client identity
EOAC_NONE // proxy capabilities

);

IEnumWbemClassObject* pEnumerator = NULL;

hres = pSvc->ExecQuery(
bstr_t("WQL"),
bstr_t("SELECT * FROM MSAcpi_ThermalZoneTemperature"),
WBEM_FLAG_FORWARD_ONLY | WBEM_FLAG_RETURN_IMMEDIATELY,
NULL,
&pEnumerator);

IWbemClassObject *pclsObj = NULL;

ULONG uReturn = O;

while (pEnumerator){
HRESULT hr = pEnumerator->Next(WBEM_INFINITE, 1,
&pclsObj, &uReturn);
if(0 == uReturn) break;
VARIANT vtProp;
hr = pclsObj->Get(L"CurrentTemperature”, 0, &vtProp, 0, 0);
ofstream fout;
fout.open("C:#test.txt" fstream:out | fstream:app);
fout< <vtProp.bstrVal< <endl;
VariantClear(&vtProp);
fout.close();
pclsObj->Release();
}
pSvc->Release();
pLoc->Release();
pEnumerator->Release();
CoUninitialize();

void temper_StrTolnt(){
ifstream fin;
char str[1024];
int nDec[10];
int cnt=0, i;
fin.open("C:#Wtest.txt");
if(fin.fail)){
writeToLog("test.txt open fail");



while(!fin.eof()){
fin.getline((char* )str, 10);
if(strcmp(str, "")==0) break

(int)strtol(str, NULL, 16);
(nDec[cnt] - 2732) / 10;

nDec[cnt]

nDec[cnt]

sprintf(str, "%d", nDec[cnt]);
cnt++;

fin.close();

ofstream fout;

fout.open("C:¥Wdynamicinfo.log”, fstream:out | fstream:app);

for(i=0; i<cnt; i++){
fout<<"CurrentTemperature"<<i+1<<"="<<nDec[i]<<end);

}

fout.close();
remove("C:#test.txt");



